BANK MODEL MAIN PAPER EXAM 01 – ANSWER KEY
1. Which of the following country is the focus country of the
39th edition of India International Trade Fair (IITF) 2019?
A. The Republic of Korea
B. The Islamic Republic of Afghanistan
C. Uzbekistan
D. Ukraine
E. Turkey
Solution:
Answer :Option A
* On November 14, 2019, the 39th edition of India
International Trade Fair (IITF-2019) has been inaugurated
by the union minister Nitin Gadkari at Pragati Maidan, New
Delhi.
* The theme for the 39th edition of the fair is ‗Ease of Doing
Business‘ inspired by India‘s unique achievement of rising
to 63rd rank on the World Bank‘s Ease of Doing Business
Index from 142nd rank in the year 2014.
* This year the status of ‗Partner Country‘ has been
accorded to ‗The Islamic Republic of Afghanistan‘ and ‗The
Republic of Korea‘ will be the ‗Focus Country‘.
2. Union Minister of State (Independent Charge) for
Tourism & Culture Prahlad Singh Patel has inaugurated
‗2019 Shirui Lily Festival‘. It is celebrated in which state?
A. Nagaland
B. Tripura
C. Mizoram
D. Manipur
E. Meghalaya
Solution:
Answer :Option D
* Union Minister of State (Independent Charge) for Tourism
& Culture Prahlad Singh Patel has inaugurated ‗2019 Shirui
Lily Festival‘ (3rd) at Shiru Vangayan Ground of Ukhrul in
Manipur.
* The festival featured demonstrations of the age-old
traditions and culture of the inhabitants of the district of
Ukhrul.
* This initiative will provide an opportunity to youth outside
the region to develop a positive perception of North-East.
* Mr Patel along with N. Biren Singh (Manipur Chief
Minister) jointly inaugurated the Strength of Unity Statue as
a mark of opening the third edition of the four-day state
festival.
3. The union Culture Minister Prahalad Singh Patel has
inaugurated the exhibition titled ‗Unknown Masterpieces of
Himachal Folk Art‘ in/at ______.
A. New Delhi
B. Pune
C. Bhopal
D. Ranchi
E. Chandigarh
Solution:
Answer :Option A
Culture Minister Prahalad Singh Patel has inaugurated the
exhibition titled Unknown Masterpieces of Himachal Folk
Art at National Museum in New Delhi.
The aim of the exhibition is to highlight the Folk-art
tradition of Himachal Pradesh.
4. Which of the following cities hosted the Madhya
Dakshini Festival 2019?
A. Darjeeling
B. Kolkata
C. Gangtok
D. Guwahati

E. None of these
Solution:
Answer :Option D
South Central Zone Cultural Centre (SCZCC) of Ministry of
Culture, Government of India has organized a Madhya
Dakshini Festival 2019 in four venues of Guwahati, Assam.
Around 100 folk artists from Central India, states from
Maharashtra, Madhya Pradesh, Chhattisgarh and Andra
Pradesh has performed vibrant and colourful folk dances
showing the rich cultural heritage of India.
The Cultural Festival was organized at Shilpgram of
NEZCC at Panjabari, Guwahati.
5. On which date, International day for preventing the
environment from war and armed conflicts is observed
annually?
A. 4th November
B. 5th November
C. 6thNovember
D. 7thNovember
E. 8thNovember
Solution:
Answer :Option C
• On November 5 2001, UN (United Nation) general
assembly decided to celebrate the International day for
preventing the environment from war and armed conflicts
every year on November 6.
• At the time of war, it affects the ecosystem such as water
supply is poisoned, forest is burnt, animals killed, etc.
6. What is the tagline of the IndusInd Bank?
A. Prosperity for All
B. Trusted Family Bank
C. Aapka Bhala, Sabki Bhalai
D. We make you feel richer
E. We Understand Your World
Solution:
Answer :Option D
* We make you feel richer is tagline of IndusInd Bank.
7. The World Day for Audiovisual Heritage for 2019 was
observed by the United Nations on which date to recognize
the need to preserve audio-visual links to the past?
A. 25th October
B. 26th October
C. 27th October
D. 28th October
E. 29th October
Solution:
Answer :Option C
• The World Day for Audiovisual Heritage, observed by the
United Nations on 27th October, recognizes the need to
preserve audio-visual links to the past.
• The Theme of 2019 is 'Engage the Past Through Sound
and Images'.
• The General Conference of UNESCO approved the
commemoration of a World Day for Audio visual Heritage
in 2005 as a mechanism to raise general awareness of the
need to preserve and safeguard important audio-visual
material for future generations.
• Audio visual documents, such as films, radio and
television programmes, are our common heritage and
contain the primary records of the history of the 20th and
21st centuries
8. What is the theme of the ‗World Food Day 2019‘
observed on 16th October 2019 globally?
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A. ―Our Futures are Our Actions. #ZeroHunger World with
Healthy Diets‖
B. ―Our Actions Are Our Future. Healthy Diets for A
#ZeroHunger World"
C. ―Our Actions to Eradicate Poverty. #ZeroHunger World
and Healthy Diets
D. ―Eradicating Poverty and Hunger with Healthy Dies‖
E. None of the Above
Solution:
Answer :Option B
• The ‗World Food Day‘ is observed every year on 16th
October globally to mark the foundation of the Food and
Agriculture Organisation (FAO) of the United Nations.
• The theme of World Food Day 2019 is ―Our Actions Are
Our Future. Healthy Diets for A #ZeroHunger World".
• Food and Agriculture Organisation (FAO) is a specialised
agency of the United Nations that works towards defeating
hunger via international efforts.
9. In Which state is the Sardar Patel Zoological Park
located?
A. Gujarat
B. Maharashtra
C. Madhya Pradesh
D. Rajasthan
E. Uttar Pradesh
Solution:
Answer :Option A
* Sardar Patel Zoological Park is located in Gujarat which is
coming up near the ‗Statue of unity‘ in Kevadia.
* It was recently in news because it has got 43 new inmates
from across the world.
* Animals like giraffes, zebras, oryx, gemsbok, blue
wildbeest and impalas have been specially flown in by the
Hyderabad-based Seaways Shipping Ltd on the occasion of
the 144th birth anniversary of Sardar Patel on October 31.
* Seaways Shipping transported the animals in a Boeing 777
from Johannesburg (South Africa) to Ahmedabad on a
chartered flight.
10. Which river is known as the Sorrow of Bihar?
A. Gandak
B. Maiti
C. Son
D. Kosi
E. Ghaghra
Solution:
Answer :Option D
 The Kosi River is known as the "Sorrow of Bihar" as the
annual floods affect about 21,000 km sq (8,100 sq mi) of
fertile agricultural lands thereby disturbing the rural
economy.
 Bihar‘s economy is mainly based on Farming and Kosi
River ruins it during floods as well as claims many thousand
of life of Human & Cattle.

11. The regional Rural Banks are sponsored by
a) Unit Trust of India
b) Reserve Bank of India
c) Life Insurance Corporation of India
d) NABARD
e) Any Scheduled Commercial bank
Answer: E
Solution:
12. Deficit financing can (these are also demerits of it)

a) Cause inflation
b) Bring rise in fiscal deficit
c) Bring rise in credit creation in banks
d) All above
e) None of the above
Answer: D
Solution:
13. Central co-operative banks
a) occupy a crucial importance in the co-operative credit
structure
b) from an important link between the state co-operative
bank at the apex and the primary agricultural credit societies
at the base
c) are closer to the primary societies than an apex bank
could be
d) all of the above
e) none of the above
Answer: D
Solution:
14. If the RBI wants to infuse credit in Banking system in
our country, which of the followings can be done?
a) Decreasing CRR
b) Decreasing SLR
c) Both (a) and (b)
d) None of the above
e) Cannot be determined
Answer: C
Solution:
15. Deposits with Regional Rural Banks are insured by
a) Life Insurance Corporation of India
b) General Insurance corporation
c) Deposits Insurance and Credit Guarantee corporation
d) None of the above
e) all of the above
Answer: C
Solution:
16. If the rupees depreciate, what is the effect on the
exporters?
a) They are unaffected
b) They are in loss
c) They are in profit
d) They get credit crunch
e) None of these
Answer: C
Solution:
17. Under merchant banking, consultancy services are
rendered by banks/merchant bankers for
a) floating of new companies
b) preparation, planning and execution of new projects
c) giving expert guidance and managing the new promotions
or new promotions of industries/enterprises
d) all of the above
e) none of the above
Answer: D
Solution:
18. When the Government of India cannot raise enough
financial resources through taxation, it finances its
expenditure through various means like borrowing from
market, running down its balances with RBI etc. This can be
exactly called as
a) Fiscal Deficit Financing
b) Deficit Financing
c) Capital Infusion
d) Restructuring
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e) None of these
Answer: B
Solution:
19. Under the Banking Regulation Act, 1949, which of the
following is not qualified to be called as banks in the cooperative sector?
a) Urban Co-operative banks
b) State Co-operative banks
c) Primary Agricultural Credit Societies
d) Central Co-operative Banks
e) None of the above
Answer: C
Solution:
20. Buying and selling of eligible securities by RBI in the
money market can be termed as
a) Open Economy Operations
b) Open Market Operations
c) Credit Control Measures
d) Credit Creation Measures
e) None of these
Answer: B
Solution:
21. Which of the following is the private sector Bank in
India?
a) IDBI Bank
b) Axis Bank
c) Corporation Bank
d) UCO Bank
e) None of the above
Answer: B
Solution:
22. Regional Rural Banks are managed by
a) Reserve Bank of India
b) the State Government
c) the sponsor bank
d) a board of directors
e) All of these
Answer: D
Solution:
23. Which of the following terms NOT used in the field of
Banking & Finance?
a) Overdraft
b) Base Line
c) RTGS
d) GBC
e) None of the above
Answer: D
Solution:
24. Which of the following conditions must be fulfilled
before a bank is included in the Second Schedule to the
Reserve Bank of India Act?
a) It must be a State co-operative bank or a company as
defined in the Companies Act, 1956 or an institution
notified by the Central Government in this behalf or a
corporation or a company incorporated by or under any law
in force in any place outside
b) It must satisfy the Reserve Bank of India that its affairs
are not being conducted in a manner detrimental to the
interests of the depositors
c) It must have a paid-up capital and reserves of an
aggregate value of not less than Rs. 5 lakh
d) Only (a) and (b)
e) All of the above
Answer: E

Solution:
25. Which of the following is NOT a type of cheque issued
by an individual?
a) Bearer cheque
b) Order cheque
c) Crossed cheque
d) Savings cheque
e) None of the above
Answer: D
Solution:
26. Regional Rural Banks are empowered to transact the
business of banking as defined under
a) Regional Rural Banks Act, 1976
b) Negotiable Instruments Act, 1881
c) Banking Regulation Act, 1949
d) The Banking Companies (Acquisition and Transfer of
Undertakings) Act, 1970
e) None of the above
Answer: C
Solution:
27. Name the person Currently who is the Governor of the
RBI?
a) Bimal Jalan
b) Y.V. Reddy
c) Arun Jaitley
d) Urjit R. Patel
e) None of the above
Answer: D
Solution:
28. Paid-up share capital of Regional Rural Bank is
contributed by
a) Central Government only
b) State Government only
c) Central Government, State Government and the sponsor
commercial bank in the ratio of 50 : 15 : 35 respectively
d) NABARD, the concerned State Government and the
sponsor commercial bank in the ratio of 60 : 20 :20
respectively
e) All of the above
Answer: C
Solution:
29. Which of the following is an example of cash less
purchase?
(a) ATM Withdrawal
(b) Credit Cards
(c) Debit Card
a) Only a
b) Only (b)
c) Only (b) and (c)
d) All of these
e) None of the above
Answer: C
Solution:
30. RBI was established on ___________.
a) April 1, 1925
b) April 1, 1935
c) April 1, 1945
d) April 1, 1955
e) None of these
Answer: B
Solution:
31. For which of the following, the Reserve Bank of India
has stipulated the maximum capital adequacy requirement?
a) Private sector banks

BANK MODEL MAIN PAPER EXAM 01 – ANSWER KEY
b) Banks that undertake insurance business
c) Local Area Banks
d) Scheduled Commercial Banks
e) None of these
Answer: C
Solution:
32. Which of the following appears in the balance sheet of a
company?
a) Subscribed Capital
b) Authorized Capital
c) Partner‘s Capital
d) Paid up Capital
e) None of these
Answer: D
Solution:
33. Cash Reserve Ratio (CRR) is to be maintained on Net
Demand and Time Liabilities (NDTL). SLR is thus required
to be maintained on ________?
a) Total Demand and Time Liabilities
b) Net Demand and Time Liabilities
c) Total Demand and Time Assets
d) Net Demand and Time Asset
e) None of the above
Answer: B
Solution:
34. What do you mean by =Money Laundering‗?
a) Washing the currency notes in a good laundery
b) Converting money obtained through illegal sources in to
legal money
c) Keeping the money in currency chests
d) Sending excess cash to other branch
e) None of these
Answer: B
Solution:
35. For opening a new branch, a Regional Rural Bank
requires
a) permission of NABARD
b) permission of Director, Institutional Finance
c) Approval of DRDA
d) RBI license
e) All of the above
Answer: D
Solution:
36. What does M stand for In CAMELS?
a) Maintenance
b) Management
c) Misappropriation
d) Money
e) None of these
Answer: B
Solution:
37. CASA is basically the combination of Current account
and saving account deposits with a Bank. Why do the Banks
put greater emphasis on mobilizing a high CASA ratio?
a) In order to fulfill RBI stipulation for it
b) It helps reduction in average cost of funds
c) These are stable deposits
d) These help Banks maintain a healthy asset-liability ratio
e) None of the Above
Answer: B
Solution:
38. The main foreign exchange reserves in the country are:
a) Foreign Currency assets
b) Gold Stock

c) Special Drawing Rights
d) All of the above
e) None of these
Answer: D
Solution:
39. Which of the following Acts has specially been enacted
to help banks deal with bad loans?
a) Negotiable Instrument Act
b) Banking Regulation Act
c) SARFAESI Act
d) Companies Act
e) Offshore Banking Act
Answer: C
Solution:
40. What is current Reverse Repo rate?
a) 6.50
b) 6
c) 6.75
d) 7.25
e) 5.75
Answer: B
Solution:
41. In Banking parlance, =NPA‗ stands for
a) Non Performing Asset
b) Net Producing Asset
c) Net Performing Asset
d) Not Promoting Asset
e) None of these
Answer: A
Solution:
42. _____________ is the duty applied by a government to
control the exports of an article of trade, so that the article of
trade can be used by the local markets rather than in foreign
countries.
a) Customs duty
b) Excise duty
c) Anti-dumping duty
d) Dumping duty
e) None of these
Answer: A
Solution:
43. Which of the following fall under the qualitative method
of credit control adopted by the Reserve bank of India?
a) Selective credit control
b) Moral suasion
c) Credit authorization scheme
d) All the above
e) None of these
Answer: D
Solution:
44. The treasury bills are issued at a
a) Discount
b) Premium
c) Both a) and b)
d) Face value
e) None of these
Answer: A
Solution:
45. If a customer does not get a satisfactory response to his
grievance from the bank within _____ days, then he can
approach the Banking Ombudsman.
a) 60
b) 90
c) 30
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d) 15
e) None of these
Answer: C
Solution:
46. Under which category will you classify Regional Rural
Bank?
a) Scheduled Commercial Banks
b) Co-operative Banks
c) Private sector Banks
d) Development Banks
e) None of these
Answer: A
Solution:
47. What does FSDC stand for?
a) Financial Security and Development Council
b) Financial Stability and Development Council
c) Fiscal Security and Development Council
d) Fiscal Stability and Development Council
e) None of these
Answer: B
Solution:
48. Which of the following is also known as the National
Bank?
a) Reserve Bank of India
b) Asian Development Bank
c) State Bank of India
d) NABARD
e) None of these
Answer: D
Solution:
49. The Headquarter of Bank of India is located in which of
the following city?
a) Kolkata
b) New Delhi
c) Mumbai
d) Manipal
e) Chennai
Answer: C
Solution:
50. Many regional Rural Banks were given licenses to open
branches in small cities and towns. These licenses were
given by –
a) Indian Banks‘ Assocoation
b) NABARD
c) RBI
d) Cabinet Committee on economic affairs
e) None of these
Answer: C
Solution:
Direction: Read the given passage carefully and answer
the questions that follow.
For many low-wage workers in India, basic skills training
can be the difference between economic empowerment and
persistent poverty. It may seem that the employers of such
low-wage workers — who focus mainly on keeping costs
down in order to survive in a relentlessly competitive
industry — would have no incentive to provide such training
or resources for personal development. But our research
suggests that a better way to manage low-wage workers in
developing economies is to invest in them, which is good for
both worker welfare and the company‘s bottom line.
In July 2013 we implemented a randomized controlled trial

in five factory units in Bangalore operated by Shahi Exports
Pvt. Ltd., India‘s biggest garment export firm. The trial
covered 2,703 workers who initially expressed interest in the
program and involved the administering of the Personal
Advancement and Career Enhancement (P.A.C.E.) training,
a life skills course for female garment workers designed by
Gap, Inc. P.A.C.E. teaches communication, time
management, decision making, problem solving, and
financial literacy through weekly group sessions in the
workplace. Workers within and across production lines were
randomized into treatment (P.A.C.E. training) and control
(no P.A.C.E. training) groups. We measured the impacts of
soft skills training on workplace outcomes such as retention,
productivity, and salary, using the firm‘s administrative data
along with changes in knowledge, behaviors, and
personality traits of workers. We then computed return on
investment by combining our impact estimates with data on
programmatic costs. The experiment was designed to
determine both whether workers benefit from the training
and whether it pays for firms to invest in such training for
their workers.
P.A.C.E.-trained workers displayed higher self-regard and
sociability. They were more likely to save for their
children‘s education and use state-sponsored health care and
pension schemes. They were 15 percentage points more
likely to request training in technical skills, and 7.7
percentage points more likely to report that they expected a
promotion within the next six months. Treated workers were
also more valuable employees: They were more productive
by seven percentage points post-training, and the average
complexity of the sewing operations to which they were
assigned rose considerably. Moreover, treated workers‘
retention was three percentage points higher during the
program, as P.A.C.E. training was akin to an in-kind transfer
from the firm to the workers.
Nine months after program completion, we calculated the
net rate of return to the company‘s investment in P.A.C.E.
training for workers at roughly 250%. The high return to the
program can be explained by the fact that the modest
cumulative costs stopped accruing after program
completion, while the benefits (mostly from productivity
increases) continued to rise. That is, total costs peaked at
$90,285 after 11 months, while the gains continued to grow
(up to $321,145 at 20 months from the start of training).
Additionally, there was a significant spillover effect, with
untrained workers on the same production lines as trainees
being 6.5 percentage points more productive than control
workers and working 7.8 days more over the duration of the
program.
Source: https://hbr.org
51. Which of the following is true with reference to the
passage?
I. The experiment was designed to determine both whether
workers benefit from the training and whether it pays for
firms to invest in such training for their workers.
II. Treated workers‘ retention was five percentage points
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higher during the program, as PACE training was akin to an
in – kind transfer from the firm to the workers.
III. For many low – wage workers in India, basic skills can
be the difference between economic empowerment and
persistent poverty.
a) Only I
b) Both I and II
c) Both I and III
d) Only III
e) All of the above.
Answer:C
Solution:
Options I and III can be inferred from the closing sentence
of the 2nd paragraph, ‗the experiment was designed to
determine both whether workers benefit from the training
and whether it pays for firms to invest in such training for
their workers‘ and the opening sentence of the 1st paragraph,
‗for many low-wage workers in India, basic skills training
can be the difference between economic empowerment and
persistent poverty‘. Option II is outlined in the closing
sentence of the 3rd paragraph as stated three percentage
points not five i.e. ‗moreover, treated workers‘ retention was
three percentage points higher during the program, as
P.A.C.E. training was akin to an in-kind transfer from the
firm to the workers‘.
52. According to the passage, which one of the following
explains the high return of the program?
a) Costs stopped after the program was completed but the
benefits continued to rise.
b) The total costs peaked at $90,285 after 11 months, while
the gains continued to grow (up to $321,145 at 20 months
from the start of training).
c) The research suggested that a better way to manage lowwage workers in developing economies is to invest in them,
which is good for both worker welfare and the company‘s
bottom line.
d) Treated workers were more valuable as they were more
productive by seven percentage points post-training, and the
average complexity of the sewing operations to which they
were assigned rose considerably.
e) All of the above.
Answer:A
Solution:
Options A is the actual and precise reason to the question
and is stated in the 2nd sentence of the 4thparagraph i.e. ‗the
high return to the program can be explained by the fact that
the modest cumulative costs stopped accruing after program
completion, while the benefits (mostly from productivity
increases) continued to rise‘. All the others, although
mentioned in the passage, are mere features of the program.
53. What do you mean by the phrase ‗spill over effect‘ as
used in the passage?
a) Something which is exaggerated.
b) An event that occurs due to some other event in a
seemingly unrelated context.
c) An understatement to a situation.

d) Two things happening at the same time.
e) None of the above.
Answer:B
Solution:
‗Spill over effect‘ means something happening because of
the occurrence of something else in an unrelated context.
54. According to the passage, which one of the following
could be the bottom line to the context of the passage?
a) Provides a strong case for the companies to invest in
employee trainings.
b) The profits that can be generated on employing the
employee training programs far outweigh the costs
incurred.
C. Programs like P.A.
c) E. can be a real boon for companies for maximizing their
employee performance.
d) The study begins to build the case that programs like
P.A.C.E. have the potential to both increase the skill sets of
workers and be profitable for firms.
e) All of the above.
Answer:E
Solution:
Option D includes everything that the paragraph is about in
just one sentence i.e. ‗the study begins to build the case that
programs like P.A.C.E. have the potential to both increase
the skill sets of workers and be profitable for firms‘.
55. Which of the following could be an appropriate title for
the passage?
a) An experiment in India shows how much companies
have to gain by investing in their employees.
b) Why do companies refrain from investing in their
employees?
c) How beneficial are employee training programs from
both the perspective of an employee as well as an employer?
d) The upsides and downsides of the employee training
programs.
e) None of the above.
Answer:A
Solution:
Since the culture and the mind set of people varies from
country to country, that is why India was specifically
mentioned in the paragraph. Citing this, there appears an
absolute need to include the name in the main heading as
well. So, option A is the best fit for the title. All the other
options inappropriately cite the context of the passage and
hence can be eliminated.
56. Which of the following are the outcomes on which the
impact of skill training is being measured?
I. Remuneration
II. Confinement of an employee
III. Efficiency of an employee
a) Only II
b) Both I and II
c) Both I and III
d) Only I
e) All of the above.
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Answer:E
Solution:
It can be inferred from the second paragraph that, ‗we
measured the impacts of soft skills training on workplace
outcomes such as retention, productivity, and salary, using
the firm‘s administrative data along with changes in
knowledge, behaviours, and personality traits of workers‘.
So, outcomes cam be measured from all I, II and III.
57. Direction: Five statements are given below, labelled A,
B, C, D and E. Among these, four statements are in logical
order and form a coherent paragraph/passage. From the
given options, choose the option that does not fit into the
theme of the passage.
a) He asked the two sons to walk as long as they could, and
return home before sunset. The wealth would be divided in
proportion to the distance covered.
b) However, they were very different from each other when
it came to everything other than their appearance. Sam had
no friends, while Tom was a great friendship maker.
c) As Sam and Tom grew up, their father wanted to share
his fortune equally amongst them. However, Tom did not
agree and he argued that whoever proved to be more
intelligent and strong would have to get a bigger share of the
wealth.
d) Sam loved sweets, but Tom loved spicy food and
detested sweets. Sam was mommy‘s pet and Tom was
daddy‘s pet. While Sam was generous and selfless, Tom was
greedy and selfish.
e) Sam and Tom were identical Twins. They were so
identical that even their mother found it difficult to
distinguish one from the other.
Answer:A
Solution:
The correct order is E – B – D – C
The passage starts with the statement E as only this
statement can be the beginning of the passage as it describes
how identical the two brothers were. Statement E is
followed by statement B which goes well with statement E.
It offers a contrasting point by drawing attention towards the
difference in their natures and hence, has started with the
word ‗however‘. Statement B is followed by statement D as
it states their contrasting nature regarding the choice of
food, close towards their parents and their nature as a human
being. It gives an example of how the two brothers were
different. Statement D is followed by statement C which
mentioned the difference in opinion regarding their share in
fortune and thus, can come only after statement D. Thus,
statement A is the odd statement here.
58. Direction: Five statements are given below, labelled A,
B, C, D and E. Among these, four statements are in logical
order and form a coherent paragraph/passage. From the
given options, choose the option that does not fit into the
theme of the passage.
a) But if hundreds of people are killed in Baghdad,
Peshawar or Nairobi, nobody will care because their lives
are not as precious as the ones in the developed world.

b) These invisible benchmarks determine how we evaluate
not just movies but also everything from the quality of
education in different countries, good looks, candidates in
an election, fashion, so on and so forth.
c) If people are killed in Paris and London, then all news
channels will cover the news 24x7 and Facebook will give a
filter for you to express your condolences.
d) If a child works in a restaurant to feed her/his family,
then that is child labour. But if a child works in an
advertisement or a movie or in a reality show, it is child
empowerment.
e) As we think more about this, there is an informal power
that one group of people have over others. That's because
they have an enabler either in the form of a media platform
or education or technology, or all.
Answer:D
Solution:
The correct order is C – A – E – B
The passage starts with the statement C which is the only
statement fitting as the opening line here as it adds what else
is done for an issue which attracts attention. . This is
followed by statement A as it aptly follows the previous
statement mentioning the reaction if people get killed in
Baghdad. It presents the other side of the argument where a
similar incident takes place but doesn‘t attract attention.
This is followed by statement E as it explains what the
author thinks about this observation. This is followed by
statement B which describes the benchmark regarding the
evaluation. Thus, statement D is odd here as no connection
of this statement with the previous statement is given.
59. Direction: Five statements are given below, labelled A,
B, C, D and E. Among these, four statements are in logical
order and form a coherent paragraph/passage. From the
given options, choose the option that does not fit into the
theme of the passage.
a) News is first and foremost interest and charm for us.
Without newspaper and news, we are nothing and just like a
fish without water.
b) Reading newspaper is very interesting job. If one
becomes used to of this, he/she never drop reading
newspaper. It is good for the students as it inspires us to
speak English fluently with correct accent.
c) Newspaper is of great importance to all of us because it
brings tons of news to us from all across the world.
d) Newspaper has affected positively the people in society.
Everyone has become interested in knowing the current
affairs of the country.
e) Newspapers are becoming popular in the backwards
areas of the country. People speaking any language can read
newspaper as it is available in languages like Hindi, English,
Urdu, etc. according to the regions.
Answer:D
Solution:
The correct order is B – E – C – A
The passage starts with the statement B as it tells the
passage is about reading newspaper. A ‗this‘ in this
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statement is referring to the habit of reading newspaper.
This is followed by statement E which mentioned the
popularity of the newspaper in the backward area of the
country as well. This is followed by statement C where the
passage talks benefits of reading newspaper i.e. making one
aware of what is happening around. This is followed by
statement A as it tells how much importance newspaper
hold. Thus, statement D is odd here.
S=60-61):Passage:
Direction: A statement with one blank is given below.
Choose the set of words from the given options which
can be used to fill the given blank.
60. Gervaise was now so fat that there wasn't room for her
in the limited window space and she had to lean sideways
and ______ if she wanted to see the courtyard.
I. Rolled her eyes
II. Prop on one arm
III. Crane her neck
a) Both I and II
b) Both I and III
c) Both II and III
d) Only III
e) All of the above
Answer:C
Solution:
The given sentence states that the woman Gervaise was very
fat. That‘s why ―there wasn‘t a room for her in the window
space.‖ So, ―to see the courtyard‖, ―she had to lean
sideways.‖ The set of words in the blank should also
describe a movement/position/action that can help her to see
the courtyard. ‗Rolled her eyes‘ means to move your eyes
around in a circle because someone has said or done
something stupid or strange. So, this makes no sense in the
context of the sentence. Hence, in the given context, the
phrase "prop on one arm" and ―crane her neck‖ fit the best
as prop means to support or keep in position and the phrase
‗crane her neck‘ means to stretch your neck in a particular
direction in order to see or hear something better.
Therefore, option C is the apt answer.
61. On sensing that his troop was under attack, the dog
would ____to warn the soldiers of enemy approach.
I. Start growling
II. Bristle up his hair
III. Wag his stumpy tail
a) Only I
b) Only II
c) Only III
d) Both I and III
e) All of the above
Answer:E
Solution:
The set of words in the blank should describe an action
which a dog will do if he senses that his troop was under
attack. That action will be taken as a warning by the
soldiers. So, contextually, all three options can be used in

the blank to derive a meaningful and grammatically correct
sentence. Therefore, option E is the apt answer.
62. Direction: Out of the five statements given below, only
one is grammatically correct. Choose the correct statement
as your answer.
a) While there is a case to retain most of the rules
prohibiting the cruel treatment of animals, the ban on the
sale of cattle of slaughter in animal markets must go.
b) Attempts to put pressure on Pyongyang through Beijing
have also failed – either because China is not completely on
board or it simply reluctant to use its leverage over North
Korea.
c) Speaking at the side-lines of the Vibrant Gujarat Global
Summit, Pankaj Patel, Chairman of Federation of Indian
Chambers of Commerce and Industry (FICCI) and also
chairman and managing director of Cadila Healthcare Ltd
said that generic drug industry in India which supplies to the
US is unlikely to be effected.
d) The fate of this long – overdue attempt at resolving the
banking sector‘s NPA crisis will ultimate be determined by
how quickly the lender consortia are able to initiate the
implementation of a resolution plan.
e) What if this modification in rental agreement had been
communicated to us earlier we could have given it a second
thought and rectified the loopholes.
Answer:B
Solution:
In option A, the preposition ‗of‘ is incorrect and needs to be
replaced with the preposition ‗for‘. This is because;
‗slaughter‘ means the killing of animals for food. So, it
needs preposition ‗for‘ after that.
In option C, the phrase ‗be effected‘ is incorrect and needs
to be replaced with ‗be affected‘. This is because ‗affected‘
is a verb – ‗to affect‘ meaning to influence or have an
impact on something. ‗Effected‘ is a noun – a positive effect
– referring to the result of being affected by something.
Thus, ‗affected‘ should be used to make the sentence
grammatically and contextually correct.
In option D, the use of adjective ‗ultimate‘ is incorrect and
needs to be replaced with an adverb ‗ultimately‘ to make the
sentence grammatically and contextually correct. This is
because an adjective is used to modify a noun and hence is
incorrect as in the sentence it is modifying a verb.
In option E, a conjunction is needed which represents a
condition. So ‗what if‘ is incorrect. The use of ‗if‘ or ‗if
only‘ can be used to make the sentence grammatically
correct.
63. Direction: Out of the five statements given below, only
one is grammatically correct. Choose the correct statement
as your answer.
a) Foreign shoppers have been travelling to Britain to buy
luxury goods helped increase sales by 40% in last three
months of 2016.
b) Strict laws should be made to deal with the corruption
practices providing for the termination of service,
suspension and stringent penalty for dereliction of duty.
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c) Self – knowledge is everything when it comes to career
choice.
d) When you see piece of work you admire, dissect it
scientifically and discover exactly what makes it great.
e) We were shocked to know that most of the international
calls that we make daily have been made through Skype.
Answer:C
Solution:
In option A, ‗have been‘ used before ‗travelling‘ is
incorrect. This is because continuous form of the present
perfect ‗have been‘ focuses on a process, something that has
been happening over a recent period of time. As in the
sentence which talks about foreign shoppers who are
travelling to Britain to buy luxury goods. The latter part of
the sentence also suggests that ‗have been‘ should not be
used as it mentions that the act has led to an increase in the
sales since just past three months (recent past) and not for
long thus ‗have been‘ will not be used.
In option B, the use of noun ‗corruption‘ is incorrect and
needs to be replaced with the adjective ‗corrupt‘. This is
because ‗practice‘ is a noun and the word modifying it is
‗corrupt‘ as an adjective is used to modify a noun.
In option D, the use of indefinite article ‗a‘ is needed before
‗piece of work‘. This is because a work which is unique is
being discussed and it is represented by indefinite article
‗a‘.
In option E, incorrect form of tense is used. Present perfect
tense is incorrect and needs to be replaced with present tense
to denote the correct time as the calls are still made.
64. Direction: Out of the five statements given below, only
one is grammatically correct. Choose the correct statement
as your answer.
a) Having a defined time to go to the bed at night and
awaken in the morning will help your body develop a
natural circadian rhythm.
b) FDI inflows have surged to record highs after a lull in
the UPA‘s second innings, and long – awaited ease of FDI
thresholds in certain sectors has been carried out.
c) With gross non – performing assets (NPAs) at about 7
lakh crore, a regulatory intervention were imperative not
only to safeguard the health of the banking system but also
to ward off any wider impact on the economy.
d) The Centre‘s move to notify new rules to regulate
livestock markets under the Prevention of Cruelty to Animal
Act, 1960 (PCA) is either extremely poorly thought out or
much too clever for its own good.
e) Although Mr. Rajesh Gupta is older than me by 8 years I
have better skills in this area and I am junior than him in this
job.
Answer:D
Solution:
In option A, ‗the‘ used before bed will not be used. This is
because ‗go to bed‘ refers to going to do the activity
(sleeping, being in bed, etc.) and does not indicate a
particular place. Ans also ‗to go to bed‘ is an idiom and thus
should be used without ‗the‘.

In option B, the use of noun ‗ease‘ is incorrect and needs to
be replaced with the present participle form of the verb
‗easing‘. This is because noun is not required in the
sentence.
In option C, the use of plural verb ‗were‘ is incorrect and
needs to be replaced with a singular verb ‗was‘. This is
because the subject is plural and hence will be followed by a
plural verb.
In option E, ‗than‘ needs to be replaced with ‗to‘ to make
the sentence grammatically correct. This is because
adjectives ‗senior‘, ‗junior‘, ‗interior‘, ‗posterior‘,
‗superior‘, ‗inferior‘, etc. take ‗to‘ as preposition after them
instead of ‗than‘
S=65-67):Passage:
Direction: Which of the following given at (A), (B), (C)
and (D) can replace the words/phrases given in bold in
the sentence to make it grammatically and structurally
correct? If the sentence is correct as it is, mark 'No
correction required' as the answer
65. There is a relevant satisfaction on viewing
the vigilance of the wealthy liberal when
confronted within the reality of what they have achieved.
a) Constructed, capacious, in, accredited
b) Certain, discomfit, with, achieved
c) Commanding, abundance, into, morbid
d) Brazen, restriction, to, survived
e) No correction required
Answer:B
Solution:
The first word should be an adjective to support ‗satisfaction
‗. ‗Certain‘ means specific but not explicitly named or stated
is correct to mention the explicit satisfaction. The second
word requires a verb to express that the comfort is realised
after viewing that. This ‗discomfort‘ meaning make
(someone) feel uneasy or embarrassed, which is correct to
say for the wealth liberal. The third word requires a
preposition to support ‗confronted‘. ‗With‘ is the correct
form of preposition to be used because ‗confronted‘ with
something is the correct phrasal verb needed for the
sentence. The fourth word requires a verb to describe the
action of wealthy liberal towards their goal, thus ‗achieved‘
is the correct word.
66. Journalists, whistle – blowers but activists
are keenly aware that critics of the government often pay a
price, if in the form of ‗trolling‘ on the internet, harassment
by officials or spontaneous lawsuits.
a) While, inevitably, or, authentic
b) Though, precociously, although, duplicitous
c) And not, ornately, considerably, inconsistent
d) And, keenly, whether, spurious
e) No correction required
Answer:D
Solution:
The first word should be a conjunction which would be
connecting the journalists, whistle – blowers and activists.
Here the sentence is not stating a contrast, so ‗but‘ is
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incorrect. The correct conjunction needed here is ‗and‘ to
make the sentence contextually correct. The second word
should be an adverb to support the way the journalists,
whistle – blowers and activists are aware. Thus, ‗keenly‘
meaning in an eager or enthusiastic manner is correct for the
same. For the third word a conjunction is required,
expressing the choices between the alternatives, thus making
‗whether‘ correct, for the third word. For the fourth word
‗spurious‘ meaning not being what it purports to be; false or
fake is correct for lawsuit and to complement ‗harassment
by officials‘.
67. There‘s no reason too minimise the problem
of chronic pain, or to vilify doctors, whom are
presumably conscientious about prescribing powerful and
addictive opioids and narcotics.
a) From, acute, knave, fictitious
b) Of, persistent, conceit, diffident
c) To, chronic, vilify, conscientious
d) For, extreme, malign, wetted
e) No correction required
Answer:C
Solution:
The first word should be a preposition which relates the
reason with the pain. So, the preposition indicating the
relation correctly would be ‗to‘. The second word should be
an adjective to describe more about the kind of pain, thus
making ‗chronic‘ meaning persisting for a long time or
constantly recurring correct. ‗Vilify‘ is a verb meaning to
speak or write about in an abusively disparaging manner
which is correct for the third word for the doctors who is
prescribing powerful and addictive opioids and narcotics.
‗Conscientious‘ means wishing to do one‘s work or duty
well and thoroughly which is correct for the fourth blank to
use for the doctors who should not be vilified.
68. Direction: Five statements are given below, labelled A,
B, C, D and E. Among these, four statements are in logical
order and form a coherent paragraph/passage. From the
given options, choose the option that does not fit into the
theme of the passage.
a) Well, the government is making efforts to free the
country of black money however the sources of this ill
practice are stronger than the policies imposed to get rid of
it.
b) Now the question remains that when there are so many
negative impacts of black money then why isn‘t the
government taking steps to eradicate the problem?
c) The need to stop this practice must be sensitized. While
the government is taking steps to eliminate this problem it
cannot achieve success in this direction if the public doesn‘t
support.
d) Black money is basically the money earned in black
market. It is the amount which is hidden from the
government so as to avoid taxation on the same.
e) The accumulation of black money has several negative
repercussions on the society with economic and social
disparity being the major ones.

Answer:C
Solution:
The correct order is D – E – B – A
The passage starts with the statement D which gives an idea
about what black money is, which further explains what
exactly black money is. This is followed by statement E
which states that black money affects the society in negative
ways, which in turn, is followed by statement B which is
asking the question that why government is not taking any
step in order to eradicate the problem. This is followed by
statement A which supports this claim by mentioning that
why the efforts taken by the government is not successful.
Thus, statement C is odd.
69. Direction: Five statements are given below, labelled A,
B, C, D and E. Among these, four statements are in logical
order and form a coherent paragraph/passage. From the
given options, choose the option that does not fit into the
theme of the passage.
a) When fully applied in June, UIDAI‘s new system will
allow cardholders to hide their actual 12-digit Aadhaar
number behind a changeable virtual ID code. It will also be
far more selective about who has access to what level of
data.
b) And firms to know for sure with whom they are dealing;
officials say the scheme allows better targeting of welfare.
Businesses love how easy it makes checking credit histories
and vetting job applicants, among other things.
c) Aadhar, India‘s project to issue every resident a unique,
biometrically verifiable identification number, is big, bold
and in many ways brilliant. Aadhaar IDs provide a quick,
easy and theoretically fool proof way for civil servants
d) It provides proof of address and other data that in other
countries—and in pre-Aadhaar India—would require a stack
of documents.
e) An Aadhaar card allowed your correspondent to apply
for and walk away with a driver‘s licence in under half an
hour.
Answer:A
Solution:
The correct order is C – B – E – D
The passage starts with introducing Aadhar and calls it a
brilliant move in statement C mentioning uses of Aadhar to
the civil servant, continued with statement B which states
what officials think about its use and the advantage that
business man gets. It further mentioned in statement E how
easily one can get driving license with the help of Aadhar,
ending with statement D mentioning its use in other
countries as well. Thus, statement A is odd here.
70. Direction: Out of the five statements given below, only
one is grammatically correct. Choose the correct statement
as your answer.
a) Ryanair, Europe‘s largest low – cost airline is known for
three things: affordable fares, a record of punctuality and the
abrasive personality of its chief executive, Michael O‘
Leary.
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b) Between 2010 and 2017, several countries make rapid
progress in reducing HIV incidence and getting
antiretroviral therapy to patients.
c) A two – member team, led by Professor Anshu Pandey
from the solid state and structural Chemistry unit at IISc,
observed superconductivity in Nano – sized films and
pellets made of silver nanoparticles embedded into a gold
matrix.
d) AI develops within business processes, as data are mined
from digital platforms, and turned into intelligence, who is
ploughed back to produce more data and intelligence, in
infinite loops.
e) Reshma took plenty novels with her on her holiday but
she hardly got any time to read any as there were many
tourist places to be visited.
Answer:A
Solution:
In option B, the use of present form of verb ‗make‘ is
incorrect and needs to be replaced with the past form of verb
‗made‘ to make the sentence grammatically and contextually
correct. This is because the sentence is talking about a
duration in which progress in medical science has been
achieved. So, it will be followed by a past form of the verb.
In option C, the use of preposition ‗into‘ is incorrect and
needs to be replaced with the preposition ‗in‘ to make the
sentence correct. This is because; ‗into‘ is used to indicate
motion but the sentence is talking about the progress in
some particular field.
In option D, the use of relative pronoun ‗who‘ is incorrect
and needs to be replaced with ‗which‘ to make the sentence
grammatically and contextually correct. This is because
‗who‘ is used to indicate living beings but the sentence is
talking about AI.
In option E, with the determiner ‗plenty‘ the preposition ‗of‘
needs to be mentioned to make the sentence grammatically
correct.
71. Direction: Out of the five statements given below, only
one is grammatically correct. Choose the correct statement
as your answer.
a) Rohan was surprised that each of his friend remembered
to wish him on his anniversary but none from his close
relative.
b) The surplus arising from the operation of business is part
kept in a separate reserve and partly distributed as dividend
among the members.
c) The 11, 000 sq. ft. museum, opened on April 26 by
Montgomery‘s Equal Justice Initiative (EJI), a non – profit
organisation, leads the visitor through the history of slavery,
and the lynching, segregation but mass incarceration of
African – Americans.
d) One of the easiest way to improve your networking
ability and invigorate your social life is to develop the skill
of talking to strangers.
e) Residents of Bhavanpur, a village about 15 km outside
Ahmedabad, have been protesting against their inclusion in

the city‘s urban area by the local urban development
authority.
Answer:E
Solution:
In option A, the singular noun ‗friend‘ is incorrect and needs
to be replaced with the plural noun ‗friends‘ to make the
sentence grammatically and contextually correct. This is
because ‗each‘ has been used here.
In option B, the use of noun ‗part‘ is incorrect and needs to
be replaced with adverb ‗partly‘ to make the sentence
correct. This is because ‗kept‘ is a verb and an adverb is
used to define a verb not noun.
In option C, the use of conjunction ‗but‘ is incorrect and
needs to be replaced with the conjunction ‗and‘ to make the
sentence grammatically and contextually correct. This is
because; ‗but‘ is used to indicate contrast but the sentence is
talking about all i.e. lynching, mass incarceration and
segregation. So, ‗and‘ is the correct form of conjunction.
In option D, the singular ‗way‘ is incorrect and needs to be
replaced with plural ‗ways‘. This is because the general rule
for usage of the phrase ‗one of the‘ is ‗one of the + plural
noun‘. So, the noun following the phrase ‗one of the‘ is
always a plural noun.
S=72-74):Passage:
Direction: A statement with one blank is given below.
Choose the set of words from the given options which
can be used to fill the given blank.
72. At magic hour, when the sun has gone but the light has
not, armies of ________ themselves from the Banyan trees
in the old graveyard and drift across the city like smoke.
I. Bears part
II. Flying foxes unhinge
III. Bees tirelessly toil
a) Only I
b) Only II
c) Only III
d) Both I and II
e) Both I and III
Answer:B
Solution:
The given sentence is describing the activities taking place
on an evening. The phrase ‗drift across‘ means to be moved
slowly somewhere by currents of wind or water. ‗Like
smoke,‘ further, makes it clear that the set of words in the
blank should be something that can be carried away by
winds or can fly. So, clearly option I does not fit in the
context of the sentence. Toil means to work extremely hard
or incessantly. ‗Bees toil themselves‘ makes no sense.
Hence, in the given context, the phrase "flying foxes
unhinge" fits the best as ‗flying foxes‘ is the genus of bats
and ‗unhinge‘ means to unsettle, disrupt.
Therefore, option B is the apt answer.
73. He also saw me through the entire process, going so far
as to credit me for the SIM card that did not arrive and this
was after _____outright chicanery and many hours on the
phone during what had become my wretched new job.
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I. A farrago of miscommunication,
II. A dash of invariably
III. Ferreting out
a) Both I and II
b) Both II and III
c) Both I and III
d) Only I
e) All of the above
Answer:C
Solution:
Outright means open and direct. Chicanery refers to the use
of deception or subterfuge to achieve one's purpose. The
latter half of the sentence states the reason.
(I): Farrago means a confused mixture.
(II): ‗A dash of‘ means a small quantity of a something
added to something else; an act of running somewhere
suddenly and hastily. Invariably means always. This makes
the sentence ambiguous.
(III): Ferreting out means to get, remove, search out,
discover, or retrieve something from someone or something,
usually with cunning and persistence.
Hence, in the given context, both options I and III fit the
best.
Therefore, option C is the apt answer.
74. The designated students ______ the badges and sashes
by the Principal and In-Charges of Senior and Middle
Wing.
I. Were conferred with
II. Showed taekwondo skill; thus honoured
III. Were relinquished
a) Only I
b) Only II
c) Only III
d) Both I and III
e) Both II and III
Answer:A
Solution:
The given sentence states that the designated students were
given or honoured with the badges and sashes by the
Principal and In-Charges of Senior and Middle Wing.
Option II will make the sentence grammatically incorrect.
Relinquished means to give up something such as a
responsibility or claim. This makes no sense in the context
of the sentence. Hence, in the given context, ―were
conferred with‖ fits the best as conferred means to grant a
title, degree, benefit, or right.
Therefore, option A is the apt answer.
S=75-76):Passage:
Direction: Which of the following given at (A), (B), (C)
and (D) can replace the words/phrases given in bold in
the sentence to make it grammatically and structurally
correct? If the sentence is correct as it is, mark 'No
correction required' as the answer
75. In 2006 Charlie Hebdo‘s servile to
reprint tensile cartoons of the Prophet
Muhammad, firstly published in Denmark,

was extenuated by Jacques Chirac, then France‘s president,
as a ‗manifest provocation‘.
a) Decision, inflammatory, first, described
b) Act, controversial, beforehand, penalised
c) Stubbornness, quaint, innovatively, obliged
d) Courage, poignant, foremost, obtruded
e) No correction required
Answer:A
Solution:
The first word should a noun which means a conclusion or
resolution reached after consideration. So, ‗decision‘ would
be the best fit as something was decided in 2006 which was
done later something. The second word would be an
adjective which would mean (especially of speech or
writing) arousing or intended to arouse angry or violent
feelings. As, the nature of cartoon is being talked about, so,
‗inflammatory‘ would be the best fit as the controversial
cartons were made. For the third blank we don‘t need an
adverb here, so, ‗first‘ would be correct both contextually
and grammatically. The fourth word would be ‗describe‘ as
the France‘s president marked it as a manifest provocation.
76. Temperate climate have
generally complemented higher densities of population and
thus a more extensive division off labour than tropical
regions.
a) Supported, densities, extensive, of
b) Represented, stages, ductile, out
c) Aligned, plethora, elaborated, on
d) Urged, adversities, confined, among
e) No correction required
Answer:A
Solution:
The first word should be a verb to explain what the
temperate climates have generally done. Thus ‗supported‘ is
correct to mean that temperate climate have supported high
population due to the climate. For the second word a noun is
required to support great population, thus ‗densities‘
meaning the quantity of people or things in a given area or
space is correct. For the third word ‗extensive‘ is correct to
mean that the division covers or affect a large area. Also,
‗division‘ is followed by ‗of‘ and ‗division of labour‘ is a
phrase wherein the work is divided. Thus, ‗of‘ is the correct
form of preposition.
S=77-78):Passage:
Direction: The given sentences, when properly
sequenced, form a coherent paragraph. Each sentence is
labelled with a letter. Choose the most logical order of
the sentences from among the five given choices to
construct a coherent paragraph keeping 1 and 6 as the
first and the last line respectively.
77. 1) Municipal elections do not have the cachet of state or
Parliament elections.
A) For, municipal politics determines the health of our
cities, where the bulk of modern, organised economic
activity takes place.
B) For these reasons, the Aam Aadmi Party‘s decision in the
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municipal polls in Delhi to promise scrapping property tax is
a major concern.
C) But they are no less relevant for the health of the
economy than elections to higher levels of government.
D) If you kill cities or make them anaemic, there would be a
disproportionately large impact on profits, jobs, new
business formation and the quality of life.
6) AAP would be well-advised to rethink the move and not
start a disease in the national capital that could infect other
municipalities in the neighbourhood, spread further afield
and become a nationwide epidemic that drains vitality out of
India‘s cities and hobbles economic growth.
a) CABD
b) ADCB
c) DACB
d) BACD
e) CADB
Answer:E
Solution:
Option C follows statement 1 saying that municipal
elections are not as important as state elections. Option A
states what municipal is for. Option D further says what
municipal corporation do. Option B states what the AAP
needs to promise logically preceding statement 6.
78. 1) A Muslim woman from London, Muna Juma, has
won the legal right to ditch the bikini in the Miss Universe
GB competition and now can rather stand on stage among
her fellow finalists wearing akaftan.
A) Wearing the revealing swimwear is against her religion,
and rather than challenging the organizers or compromising
her beliefs, she withdrew from the contest.
B) Juma originally applied for the said competition two
years ago but withdrew immediately citing concerns about
having to wear a bikini which is against her religious
beliefs.
C) Muna said, "I wouldn't wear a bikini to the beach, so I'm
not going to wear one in a competition to score.
D) However, having beaten off stiff competition to reach the
UK final, she decided to re-apply this year to leaf a
successful campaign to wear a kaftan onstage.
6) The swimwear round is an essential part of the pageant in
which the contestants walk the ramp in bikini while the
judges decide who looks the best and the most
a) BADC
b) BCDA
c) DBCA
d) ADBC
e) DCAB
Answer:A
Solution:
B digs into the history of the topic and A contextualizes it. D
brings in the current scenario of the topic and C has the
primary agent voicing concern about the topic.
Thus the correct answer is A
S=79-80):Passage:

Direction: For the statement given in the question, four
alternatives are suggested. Identify the best way of
writing the sentence.
79. Avidya could be achieved by Self-knowledge which is
like a curative medicine whereas different yoga practices
help in removing physical and mental afflictions
a) Although different yoga practices help in removing
physical and mental afflictions, overcoming avidya could be
achieved by Self-knowledge which is like a curative
medicine.
b) Mental and Physical afflictions can be removed by
different yoga practices and avidya can be overcame by selfknowledge which is like a curative medicine.
c) While different yoga practices help in removing physical
and mental afflictions, overcoming avidya could be
achieved by Self-knowledge which is like a curative
medicine.
d) Self knowledge is like a curative medicine which can
overcome avidya, Moreover, physical and mental afflictions
can be removed by different yoga practices.
e) No correction required
Answer:C
Solution:
The use of conjunction ‗whereas‘ is incorrect here.
Option A. The use of Although is incorrect here as it is used
indicate a contrast situation.
Option B. The use of ‗overcome‘ is incorrect. ‗overcome‘ is
the correct use as the ‗be‘ takes third form of verb with it.
Option C. Here the use of while indicates ‗at the same time
or meanwhile‘.
Option D. The use of adverb ‗moreover‘ is incorrect here as
it suggests
80. Ghosn said that having gone through many generations
of managements and leadership, it is possible to develop all
the attributes that you want in someone.
a) Going through many generations of managements and
leadership, all the attributes that you want in someone is
possible, Ghosn said.
b) According to Ghosn, who have gone through many
generations of managements and leadership, getting the
attribute you want in someone is poosible.
c) It is possible to have the attributes in someone, going
through many generations of managements and leadership
as per the Ghosn.
d) Ghosn said that as many generations of managements
and leadership that he has gone through developing
attributes in someone became possible.
e) No correction required
Answer:E
Solution:
Option A. The use of ‗going‘ is incorrect as it is not
delivering a meaningful sentence.
Option B. Singular verb ‗has‘ will be used.
Option C. The use of ‗as per the ghosn‘ is making no sense
here.
Option D. The use of ‗as‘ is incorrect here.
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S=81-88):Passage:
Direction: Read the following passage carefully and
answer the questions that follow. Certain words are
printed in bold to help you locate them while answering
some of these.
At short notice, without giving any reason, the 47th Indian
Labour Conference (ILC) scheduled for 26–27 February was
indefinitely postponed by the government. According to
media reports, this was due to the threat by the Rashtriya
Swayamsevak Sangh (RSS) affiliated Bharatiya Mazdoor
Sangh (BMS) to boycott the conference and the
government‘s apprehension of potential embarrassment.
However, not much attention has been focused on the two
demands made by several major central unions that would
have decided their participation in the ILC. They demanded
that the government must invite the Congress partyaffiliated Indian National Trade Union Congress (INTUC)
to the conference and protested the notification draft rules to
allow the ―fixed-term employment‖ across all sectors that
they allege would encourage contractualisation. These
unions have called for an all-India general strike on 15
March to protest against the government‘s anti-labour
policies in which the BMS will not participate.
The cancellation of the conference is especially significant
given that it was being held after 2015, a gap of two years,
and at a time when the working class faces serious
challenges. For instance, the fixed term employment move
will allow all sectors to hire workers for specific projects on
contract. While the Ministry of Finance touts this as a
measure to improve ―ease of doing business,‖ the unions
have pointed out that this could lead to vast sections of
workers becoming contract employees. In addition, apart
from amendments to labour laws by several state
governments that have invariably led to job security being
compromised, the Code on Wages Bill, 2017 was introduced
in the Lok Sabha in mid-2017. Although its aim is to have a
statutory national minimum wage, state governments have
been permitted to arrive at a minimum wage separately. The
bill also does not adhere to the formula for fixing the
minimum wage recommended by two earlier ILCs. Despite
labour protests against it, it has received cabinet approval.
Apart from this, almost all major trade unions, including the
BMS, have criticised the 2018–19 budget for giving nothing
to the working class, being silent on corporate ―tax theft,‖
doing precious little to generate employment and ignoring
the demands on wages and working conditions of workers of
central social welfare schemes.
As for the BMS, while it surprised many by openly
criticising the Narendra Modi government‘s anti-labour
policies, it has refused to ally with other unions during
crucial protests because it does not ―believe in doing
politics‖ but only in fighting for workers‘ welfare. How it
expects to do so in an apolitical manner remains to be seen.
The government has reportedly cited the leadership tussle
within the INTUC as a reason to exclude it from meetings
and the ILC and refused to relent even after the other major

unions (excluding the BMS) wrote a letter of protest in this
regard.
The first ILC was held in 1942. While some union leaders
see it today as a ritualistic exercise, it is the highest and most
important tripartite body consisting of representatives of
unions, employers and state and central governments
contributing towards policy formation. Routinely
inaugurated by the incumbentPrime Minister, the ILC
platform is used by both trade unionists and employers‘
representatives to draw the government‘s attention to issues
of relevance. The agenda that was drawn up for the
postponed ILC also covered critical issues of employment
generation, labour law amendments (or labour law reforms)
and universal social security cover for all workers. Then
there are other long pending issues regarding the ending of
contractual employment in work of a perennial nature and
divestment of public sector companies. It is possible that the
government used the excuse of the BMS‘ threat to boycott
the ILC to escape the embarrassment it would have faced
had all the other unions also boycotted it. On the other hand,
it might have decided to do this to escape questioning before
pushing through labour laws in Parliament. Whatever the
real reason, it is evident that the government has no respect
for trade unions and their leadership.
Indian trade unions are facing a crisis of membership given
jobless growth, the bleak employment scene and the
increase in jobs in the informal sector where there is no
union representation. Given this and the
government‘s obduracy in refusing to debate or discuss its
labour policies in Parliament or outside it, trade unions have
no option but to take their cause to the people and once
again reiterate the importance of collective bargaining.
Source:
81. Which of the following is not an agenda that was drawn
up for the 47th Indian Labour Conference (ILC)?
a) Social Security for all.
b) Labour Law amendment and reforms.
c) Employment Generation with the special focus on
women.
d) Transition to formal employment.
e) Divestment of Public sector companies.
Answer:C
Solution:
It can be deciphered from the following lines, ‗..The agenda
that was drawn up for the postponed ILC also covered
critical issues of employment generation, labour law
amendments (or labour law reforms) and universal social
security cover for all workers. Then there are the other long
pending issues regarding the ending of contractual
employment in work of a perennial nature and divestment of
public sector companies..‘
Therefore, option C is the apt answer.
82. According to the passage, which of the following
statements is true?
I. Since the Indian trade unions are facing a crisis of
membership, jobless growth, the bleak employment scene
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and the increase in jobs in the informal sector are the
repercussions.
II. BMS backed RSS will not participate in the all-India
general strike because it doesn't believe in doing politics
over the issues concerning the unity and integrity of the
country.
III. The government is refusing to address labour issues by
indefinitely postponing the Indian Labour Conference.
IV. The government said that it has postponed the
conference because of the BMS‘ threat to boycott the ILC.
V. The government postponed the conference to escape
questioning before pushing through labour laws in
Parliament.
a) Both II and III
b) Both III and V
c) I, II and III
d) III, IV and V
e) None of these
Answer:E
Solution:
Option I: The correct statement is ‗..Indian trade unions are
facing a crisis of membership given jobless growth, the
bleak employment scene and the increase in jobs in the
informal sector where there is no union representation..‘
Thus, we can say that Indian trade unions are facing a crisis
of membership is not the reason for jobless growth, the
bleak employment scene and the increase in jobs in the
informal sector.
Option II: From ‗..According to media reports, this was due
to the threat by the Rashtriya Swayamsevak Sangh (RSS)
affiliated Bharatiya Mazdoor Sangh (BMS)..,‘ one can say
instead of BMS backed RSS, it should be ‗RSS backed
BMS.‘
Option III: It can be deciphered from the passage.
Option IV: From ‗..At short notice, without giving any
reason, the 47th Indian Labour Conference (ILC) scheduled
for 26–27 February was indefinitely postponed by the
government,‘ one can say that this option can‘t be true.
Option V: From ‗..On the other hand, it might have decided
to do this to escape questioning before pushing through
labour laws in Parliament…,‘ one can say that this option
can‘t be true.
Therefore, only option III is true, thereby making option E
the answer.
83. What are the serious challenges that the working class
faces?
I. No increase in permanent employment.
II. Lack of job security.
III. Various reforms dilute whatever protections are still left
to workers within the law.
IV. The 2018–19 budget for giving nothing to the working
class like being silent on corporate ―tax theft.‖
V. No fixed minimum wage.
a) Both II an V
b) I, II and III
c) II, IV and V

d) I, II, III and IV
e) All of the above
Answer:C
Solution:
From the second passage, we can infer options I, II, IV, and
V. If we pay attention, then we will find that option I and
option II are similar to each other and can be considered
synonyms. Therefore, option C is the apt answer.
84. The central trade unions organise a national strike to
press for their charter of demands aimed at ___________.
I. Strict enforcement of labour laws, universal social
security for all workers, cessation of contractual forms of
employment in work of a permanent and perennial nature,
payment of wages and benefits for contract workers on a par
with regular workers for similar kind of work, provident
fund and an increase in the quantum of gratuity.
II. Keeping workers in the protective ambit of labour laws
after the Centre makes only a series of promises and not a
single commitment.
III. Involving the Congress party-affiliated Indian National
Trade Union Congress (INTUC) to the conference.
a) Only I
b) Only II
c) Only III
d) Both I and III
e) All of the above
Answer:B
Solution:
It is stated in the following line, ‗..These unions have called
for an all-India general strike on 15 March to protest
against the government‘s anti-labour policies in which the
BMS will not participate.‘
Therefore, option B is the apt answer.
85. Which of the following statements is not true about
Indian Labour Conference?
a) The first meeting of the Indian Labour Conference was
held in 1942 and so far a total of 46 Sessions have been
held.
b) It is the apex level tripartite consultative committee in
the Ministry of Labour & Employment to advise the
Government on the issues concerning the working class of
the country.
c) All the Central Trade Union Organisations, Central
Organisations of employers, all State Governments and
Union Territories and Central Ministries/Departments
concerned with the agenda items, are the members of the
ILC
d) The Union government has postponed the Indian Labour
Conference, which was to be inaugurated by Prime Minister
Narendra Modi.
e) ILC plays a very important role in policy formulation.
Answer:B
Solution:
Option A: It can be deciphered from the following lines,
‗…At short notice, without giving any reason, the 47th
Indian Labour Conference (ILC) scheduled for 26–27

BANK MODEL MAIN PAPER EXAM 01 – ANSWER KEY
February…. The first ILC was held in 1942..‘
Option B: We can‘t decipher from the passage that ILC is
the apex level tripartite consultative committee in the
Ministry of Labour & Employment.
Option C: It can be deciphered from the following line,
‗..While some union leaders see it today as a ritualistic
exercise, it is the highest and most important tripartite
body consisting of representatives of unions, employers and
state and central governments..‘
Option D: It can be deciphered from the passage and
especially from the following line, ‗..Routinely inaugurated
by the incumbent Prime Minister, the ILC platform is used
by both trade unionists and employers‘ representatives to
draw the government‘s attention to issues of relevance…‘
Option E: It can be deciphered from the following line,
‗..While some union leaders see it today as a ritualistic
exercise, it is the highest and most important tripartite body
consisting of representatives of unions, employers and state
and central governments contributing towards policy
formation.‘
Therefore, option B is the answer.
86. Choose the word which is an antonym of the word
printed in bold, as used in the passage.
Obduracy
a) Inexorable
b) Mulish
c) Flinty
d) Pertinacious
e) Deferential
Answer:E
Solution:
Obduracy is a formal word meaning stubborn.
Option A: Inexorable means impossible to stop or prevent.
Option B: Mulish means resembling or likened to a mule in
being stubborn.
Option C: Flinty refers to a person or their expression which
is very hard and unyielding.
Option D: Pertinacious means to hold firmly to an opinion
or a course of action
Option E: Deferential means showing deference; respectful.
It means showing or expressing respect and high regard due
a superior or an elder
Therefore, option E is the apt answer.
87. Choose the word which is an antonym of the word
printed in bold, as used in the passage.
Tripartite
a) Isobilateral
b) Bipartite
c) Deltoid
d) Trichotomous
e) Both A and B
Answer:B
Solution:
Tripartite means shared by or involving three parties;
consisting of three parts.
Option A: Isobilateral means having identical parts on each

side of an axis.
Option B: Bipartite means shared by or involving two
parties; consisting of two parts.
Option C: Deltoid means triangular.
Option D: Trichotomous means divided or dividing into
three parts or into threes.
Therefore, option B is the apt answer.
88. Choose the word which is a synonym of the word
printed in bold, as used in the passage.
Incumbent
I. Forcing one's compliance or participation by or as if by
law
II. Reigning
III. Reputable and eminent
IV. Functionary
a) Both I and III
b) Both II and IV
c) Both III and IV
d) Both I and IV
e) Both II and III
Answer:B
Solution:
Incumbent refers to something necessary for someone as a
duty or responsibility. It also refers to an official or regime
currently holding office.
Option II: Reigning means occupying the throne; currently
holding a particular sporting title.
Option IV: Functionary refers to a person who has to
perform official functions or duties; an official.
Therefore, option B is the apt answer.
S=89-90):Passage:
Direction: Four alternative ways of writing the question
statement are given. Identify the best way of writing the
sentence keeping the context same. If the given sentence
is correct and needs no improvement, mark 'No
correction required' as the answer.
89. People in Kerala trying to deal with the aftermath of
flood because of which most of the Muslims in the state
were not in the condition to celebrate their big day, Eid-alAdha.
a) People in Kerala trying to deal with the regularity of
flood because of which most in the condition of the Muslims
in the state were not to celebrate their big day, Eid-al-Adha.
b) People in Kerala are trying to deal with the aftermath of
floods due to which most of the Muslims in the state were
not in the condition to celebrate their big day, Eid-al-Adha.
c) People in Kerala are trying to deal with the aftermath of
floods due to that most of the Muslims in the state were not
in the condition for celebrate their big day, Eid-al-Adha
d) People in Kerala try to deal with the aftermath of floods
due to the Muslims in the state which most of were not in
the condition to celebrate there big day, Eid-al-Adha.
e) No correction required
Answer:B
Solution:
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Try is missing the auxiliary verb (―are‖) in the given
sentence.
Muslims are not a condition and floods are not regular
either. A is wrong.
'Due to' is followed by 'which' and 'for' is followed by the
continuous form of the verb. C is wrong.
Floods are not caused by Muslims. Also, the correct spelling
for relative pronoun is 'their'. D is wrong.
Hence, the correct answer is B.
90. An excuse for failure one can either look at the obstacles
as or take everything in their stride and fulfil his or her
aspirations.
a) One can either look at the obstacles because of an excuse
for failure or take everything in their stride and fulfil his or
her aspirations.
b) One can either look at the obstacles as an excuse for
failure or take everything in their stride and fulfil his or her
aspirations.
c) One can either look at the obstacles as an excuse for
failure and take everything in their stride and fulfil his or her
aspirations
d) One can either look at the his or her aspirations as an
excuse for failure or take everything in their stride and fulfil
obstacles.
e) No correction required.
Answer:B
Solution:
'An excuse for failure' is missing a relative pronoun or
conjunction to make it meaningful. The given sentence is
wrong.
Because is used to give reasons. But we are implying the
failure can be seen as excuses. A is wrong.
'either' is followed by 'or'. Also, giving excuses and
acceptance two completely different things. C is wrong.
Aspirations are not 'excuses' and neither are obstacles
fulfilled. D is wrong.
Hence, the correct answer is B.
#SUBJECT#QUANTITATIVE
S=91-95):Passage:
Direction: Study the bar graph carefully and answer the
given questions.
The Bar Graph below shows time taken by 5 different pipes
to fill a tank:-

Table below shows the time taken by 5 different pipes to
empty a tank.

Note: All the units are in Hours.
91. Two pipes A and B are used to fill the tank but due to
some damage both the pipes worked with ¾ of their
efficiency then in how much time the tank will be filled?
a) 13.5
b) 14
c) 12.5
d) 18
e) 7
Answer:C
Solution:
Total units of work = 75 (LCM of 25 and 15)
Work units done by both the pipes in 1 hour = 8
Work units done in 1 hour with ¾ of their actual efficiency=
3/4 of 8 = 6
Time required to fill the tank = 75/6
= 12.5 hours.
92. If the Pipe C and E are used to fill the tank and Pipe A is
used to empty the tank then how much time is required to
fill 40% of the tank?
a) 10
b) 15
c) 8
d) 20
e) 12
Answer:C
Solution:
Total units of work = 60(LCM 20,15,15)
Work done per hour = work/total hours
Units of worked done in 1 hour = (3+4)-4
=3
Time required to fill 40% of the tank = 24/3
= 8 hours
93. Two Pipes D and E are used to fill the tank and Pipe C is
used to empty them. Then find how much time is required to
fill the tank if the three pipes work alternatively for one hour
starting with the sequence D, E & C?
a) 30.67
b) 28.67
c) 26
d) 27
e) 15.5
Answer:C
Solution:
if Total Units of work = 240
Units of work done in 3 hours by D, E and C pipe
respectively= (24+16)-15
= 25
1 cycle of 3 hrs complete 25 unit work.
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Units of work done in (8 cycles=24 hours) working
alternatively = 8*25 = 200 unit
Remaining units needs to be done = 40 unit
Now d will come and will do 24 units in one hour
then E will come and will do the remaining work of 16 unit
in next hour
so Total time required =(24+1+1)hrs=26 hours
94. Two Pipes A and D opened together to fill the tank but
after the tank was 56% full the pipe D was closed then find
the total time required to fill the tank?
a) 13
b) 24
c) 11
d) 18
e) 15
Answer:E
Solution:
Total units of work= 50
Units of work done in 1 hour= 7
Time required to fill 56% of the tank by A and D= 28/7
= 4 hours
Time required to fill the remaining tank by A = 22/2
= 11 hours
Total time required = 4+11
= 15 hours.
95. Three Pipes A, B and C are opened together to fill a tank
but after how much time the Pipe B should be closed to fill
the tank in 10 hours?
a) 2.5
b) 3.5
c) 4
d) 1.5
e) 5
Answer:D
Solution:
Total units of work= 300
A and C will be opened for 10 hours
So, work done by A and C = (12+15) * 10
= 270
So, B should be opened for remaining units= (300-270)/ 20
= 1.5 hours.
96. The ratio of male and female employees in a company is
3:2. If a policy allows only 25% of the male employees and
20% of the female employees of the company can hold the
higher designations. Then what is the percentage of
employees which are working on level below 2.
a) 75%
b) 57%
c) 66%
d) 77%
e) None of these
Answer:D
Solution:
Let the number of males be 3x and females be 2x
Hence number of employees which work in level below 2

= (75% × 3x) + (80% ×2x) = 77x/20
Required % = 77x/20 X 1/5x X 100 = 77%
97. Two partners Anita and Sunita invest Rs.125000 and
Rs.85000 respectively in a business and agree 60% of the
profit should be divided equally between them and the
remaining profit is to be treated as interest on capital. If one
partner gets Rs.300 more than the other, find the total profit
made in the business.
a) 3850.70
b) 3243.23
c) 2155.63
d) 3937.50
e) None of these
Answer:D
Solution:
Let the total profit be Rs. P
Since 60% of the profit should be divided equally between
them and the remaining profit is to be treated as interest on
capital
∴Difference is only due to the 40% of the profit which was
distributed according to their investments
∴40% of P is distributed in the ratio = 125000:85000 =
25:17
∴Share of the first partner

∴ Share of the second partner

According to the question,

Difference in shares

∴Total profit made in the business is Rs. 3937.50
98. Direction: A boy states : ―4 years ago, my father was
eight times my age then, while my grandfather‘s age 4 years
ago equals 5 times my age, 4 years from present. Also, the
sum of my father‘s & grandfather‘s present age is 100.‖
The ratio of my present age to my grandfather‘s age to my
father‘s age is a) 2 : 4 : 3
b) 2 : 9 : 16
c) 4 : 16 : 9
d) 2 : 3 : 16
e) 2 : 16 : 9
Answer:E
Solution:
Let the boy‘s age be ‗x‘ years, father‘s age be ‗y‘ years and
grandfather‘s age be ‗z‘ years at present.
Then, ATQ, (y – 4) = 8(x – 4)
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Or, y = 8x – 28 …(1)
Also, ATQ, (z – 4) = 5 (x + 4)
Or, z = 5x + 24 …(2)
And, ATQ, z + y =100
So, using (1) & (2),
(5x + 24) + (8x – 28) = 100
13x = 100 + 4 = 104
x = 104/13 = 8
So, boy‘s age = x = 8 years
father‘s age = y = 8x – 28 = 64 – 28 = 36 years
grandfather‘s age = z = 5x+24 = 40+24 = 64 years
So, ratio of required ages, x : z : y = 8 : 64 : 36 = 2 : 16 : 9
99. An article is sold at a profit of 20 %. If it had been sold
at a profit of 25%, it would have fetched Rs. 45 more. The
cost price of the article is
a) Rs. 650
b) 900
c) 750
d) Rs. 800
e) None of these
Answer:B
Solution:
Let CP = x
Acc. to question,

=>
= 45
=> x = 900
Required CP = Rs. 900
100. The work done by a man, a women and a child is in the
ratio of 3:2:1. there are 20 men, 30 women and 36 children
in a factory. Their weekly wages amount to Rs 780, which is
divided in the ratio of work done by the men, women and
children. What will be the wages of 15 men, 21 women and
30 children for 2 weeks?
a) Rs 1170
b) Rs 585
c) Rs 900
d) None of these
e) Rs 292.5
Answer:A
Solution:
M : W: C
Work 3 : 2 : 1
No. 20 : 30 : 36
Ratio of wages 60 : 60 : 36
5:5:3

Total wages of men =

× 780 = 300

Wages of a men =
= 15
Similarly, women →10
Child = 5
Total wages of 15 men, 21 women $ 30 child

= 15×15+21×10+30×5 = 585
Total wages of 2 weeks = 1170
S=101-105):Passage:
Direction: Data related to different train which travelled
on Monday:

101. The average distance travelled by Train B and E on
Monday is 60 % of the distance travelled by Train F while
the speed of Train E on Monday is 130Kmph then find the
speed of the Train B?
a) 72.5
b) 56
c) 82.5
d) 66.5
e) 70
Answer:C
Solution:
Average Distance Travelled by Train B and E=
60/100*1200= 720
Total distance travelled by B and E= 720*2= 1440
Distance travelled by Train E= 6*130=780 km
Distance travelled by train B= 1440- 780=660 km
Speed of train B= 660/8= 82.5 kmph
102. The total number of male passengers on Train C and F
on Monday is equal to 600 then find the difference between
the fare collected from male passengers and the female
passengers in Train C?
a) 155520
b) 165223
c) 1678000
d) 115200
e) None of these
Answer:D
Solution:
Male passengers in Train F= 900*40/100= 360
So, male passengers in Train C= 600-360= 240
Female passenger in Train C= 240/40*60= 360
Fare collected from male passengers in Train C= 240*960=
Rs 230400
Fare collected from female passengers in Train C=
360*960=Rs 345600
Required Difference= 345600- 230400= Rs 1, 15, 200
103. The length of train C is 200 and it crosses Train D
which is travelling in the same direction as of Train C in 18
seconds, find the time that will be taken by Train D to cross
a electric pole?
a) 9
b) 4
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c) 7
d) 14
e) 18
Answer:C
Solution:
Speed of train C= 560/4= 140kmph= 140*5/18= 700/18m/s.
Speed of train D= 720/10= 72kmph= 72*5/18=20m/s
Relative speed= 700/18-20= 340/18
Let the length of train D be x m
So,
18= 100+x/340/18
18= 18(200 +x)/ 340
18*340= 3600 +18x
6120-3600=18x
x=2520/18
x= 140 meters
Time taken to cross a pole by train D= 140/20= 7 secs
104. The total fare collected from Train C and Train D is
equal to Rs 1230000 and the fare collected from male
passengers in train C is 192000 then find the rate of fare per
person in Train D?
a) 540
b) 123
c) 940
d) 500
e) 650
Answer:D
Solution:
Total fare from males in Train C = 192000
Fare per person= 960
No of males in Train C = 192000/960= 200
No of females in Train C= 200/40*60= 300
Total fare of Train C= 192000+ (300* 960)
= Rs 480000
Total fare of Train D= (1230000-480000)
= Rs 750000
Fare per person in Train D= 750000/1500= Rs 500
105. Train D crosses a platform in 18 seconds which of 140
m length then find the time that will be taken by the Train C
which is 60 m more the length of Train D to cross the same
platform?
a) 16
b) 12
c) 15
d) 10.8
e) 13
Answer:D
Solution:
Speed of Train D =720/10= 72kmph
Speed of train D in m/s= 72*5/18= 20m/s
Let the length of the platform be x
18= 140+x/20
18*20= 140 +x
360= 140+x
X= 220 m
Speed of train C= 560/4= 140kmph

Speed of train C in m/s= 140*5/18= 700/18
Time required to cross the platform= 220+200/700/18
= 420*18/700
= 7560/700
= 10.8 seconds
S=106-110):Passage:
Direction: In each of these questions two equations
numbered (I) and (II) are given. You have to solve both
the equations and give answer:
106. 679 x ² -168x2 = 3066
y3 - 9y3 = 1536
a) x > y
b) x >= y
c) x < y
d) x =< y
e) x = y or no relationship can't be established between x
and y.
Answer:C
Solution:

107. I. x2 +9x + 18 =0
II. y2 - 13y +40 =0
a) If x < y
b) If x > y
c) If x
d) If x Y
e) If x=y or relationship between x and y cannot be
determined.
Answer:A
Solution:
I. x2 +9x + 18 =0
x2 +6x +3x + 18 = 0
x (x+6) +3 (x+6) =0
(x + 6) (x+3) =0
X = -6, -3
II. y2 - 13y +40 = 0
y2 - 8y - 5y +40 = 0
y(y- 8) - 5(y- 8) =0
(y- 8) (y- 5) = 0
Y = 8, 5
Hence, x < y
108. x ²+15√2x+108=0
y ²+3√2y-36=0
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a) x>y
b) x
c) x≥y
d) x≤y
e) x=y OR No relation can be established(CND)
Answer:D
Solution:
x ²+15√2x+108=0
x ²+6√2x+9√2x+108=0
x(x+6√2)+9√2(x+6√2)=0
(x+6√2)(x+9√2)=0
x+6√2=0 or x+9√2=0
x=-6√2 or x=-9√2
y ²+3√2y-36=0
y ²-3√2y+6√2y-36=0
y(y-3√2)+6√2(y-3√2)=0
(y-3√2)(y+6√2)=0
y-3√2=0 or y+6√2=0
y=3√2 or y=-6√2
x≤y
109. √(1089)X + 2163 = 2460
√(784)Y + 1274 = 1498
a) X>Y
b) X<Y
c) X≥Y
d) X≤Y
e) X=Y OR No relation can be established(CND)
Answer:A
Solution:
√(1089)X + 2163 = 2460
33X + 2163 = 2460
33X = 297
X=9
√(784)Y + 1274 = 1498
√(784)Y = 1498 - 1274
28Y=224
Y=8
Since here underroot comes with a positive sign in question
we have to take positive values always
X>Y
110. 3X2 - X - 4 = 0
Y2 + 4Y + 4 = 0
a) X > Y
b) X ≥ Y
c) Y > X
d) Y ≥ X
e) X = Y OR the relationship doesn‘t exist
Answer:A
Solution:
3X2 – X - 4 = 0
3X2 – 4X + 3X - 4 = 0
X (3X-4) +1(3X-4) = 0
X = -1, 4/3
Y2 + 4Y + 4 = 0
(Y + 2)2 = 0

Y = -2, -2
X>Y
S=111-115):Passage:
Directions for Questions: Study the following
information and Caselet carefully to answer the given
questions.
There are two colonies i.e colony 1 and colony 2. Colony 1
has 2800 members, out of which 650 members watch only
English Channel. 550 members watch only Hindi Channel
and 450 members watch only Punjabi Channel. The number
of members watching all the 3 channels is 100. Members
watching Hindi as well as English channels are 200. 400
members watch Hindi as well as Punjabi Channels and 300
members watch English as well as Punjabi channel. And
Colony 2 has 1400 members, out of which 325 members
watch only English Channel. 275 members watch only
Hindi Channel and 225 members watch only Punjabi
Channel. The number of members watching all the 3
channels is 50. Members watching Hindi as well as English
channels are 100. 200 members watch Hindi as well as
Punjabi Channels and 150 members watch English as well
as Punjabi channel.
111. 1. How many members watch only one channel in
colony 1?
a) 2150
b) 1650
c) 2300
d) 2350
e) None of these
Answer:B
Solution:
Colony 1

For colony 1:
A = 550; B = 650; C = 450;
D = 200; E = 400; F = 300;
G = 100
Colony 2
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For colony 2:
A = 275; B = 325; C = 225;
D = 100; E = 200; F = 150;
G = 50
So, the number of members watching only one channel in
colony 1 = 650 + 450 + 550 = 1650
So option (b) is the correct answer.
112. Find the difference between number of members
watching English as well as Punjabi channel and the number
of members watching English as well as Hindi channel in
colony 2?
a) 150
b) 100
c) 50
d) 25
e) None of these
Answer:C
Solution:
Colony 1

For colony 2:
A = 275; B = 325; C = 225;
D = 100; E = 200; F = 150;
G = 50
Number of members watching English as well as Punjabi
channel = 150
Number of members watching English as well as Hindi
channel = 100
Therefore, the difference between number of members
watching English as well as Punjabi channel and the number
of members watching English as well as Hindi channel =
150 – 100 = 50
So option (c) is the correct answer.
113. Find the number of members not watching any channel
in colony 1 and 2 together?
a) 225
b) 150
c) 75
d) 500
e) None of these
Answer:A
Solution:
Colony 1

.
For colony 1:
A = 550; B = 650; C = 450;
D = 200; E = 400; F = 300;
G = 100
Colony 2

.
For colony 1:
A = 550; B = 650; C = 450;
D = 200; E = 400; F = 300;
G = 100
Colony 2
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For colony 2:
A = 275; B = 325; C = 225;
D = 100; E = 200; F = 150;
G = 50
Number of members not watching any channel in colony 1 =
2800 – (A + B + C + D + E + F + G)
= 2800 – 2650 = 150
Number of members not watching any channel in colony 2 =
1400 – (A + B + C + D + E + F + G)
= 1400 – 1325 = 75
So, the total number of members not watching any channels
in colony 1 and 2 together = 150 + 75 = 225
So option (a) is the correct answer.
114. How many members watch Punjabi channel in colony
1?
a) 750
b) 850
c) 950
d) 1050
e) None of these
Answer:E
Solution:
Colony 1

.
For colony 1:
A = 550; B = 650; C = 450;
D = 200; E = 400; F = 300;
G = 100
Colony 2

For colony 2:
A = 275; B = 325; C = 225;
D = 100; E = 200; F = 150;
G = 50
Number of members watching Punjabi channel in colony 1=
G + E + F + C = 450 + 400 + 300 + 100 = 1250
So option (e) is the correct answer.
115. How many members watch at least two channels in
both the colonies?
a) 500
b) 750
c) 1000
d) 1500
e) None of these
Answer:D
Solution:
Colony 1

For colony 1:
A = 550; B = 650; C = 450;
D = 200; E = 400; F = 300;
G = 100
Colony 2
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For colony 2:
A = 275; B = 325; C = 225;
D = 100; E = 200; F = 150;
G = 50
Number of members watching at least two channels in
colony 1 = D + E + F + G = 200 + 400 + 300 + 100 = 1000
Number of members watching at least two channels in
colony 2 = D + E + F + G = 100 + 200 + 150 + 50 = 500
So, the number of members watching at least two channels
in colony 1 and colony 2 together = 1000 + 500 = 1500
So option (d) is the correct answer.
116. Pipe A takes 2/3 of the time required by pipe B to fill
the tank individually. When an outlet Pipe C is also opened
simultaneously with pipe A and pipe B, it takes 3/4 more
time to fill the empty tank than it takes, when only pipe A
and B are opened together. If it takes to fill 30 hours when
all the three pipes are opened together, then in what time
pipe C can empty the full tank operating alone?
a) 60
b) 40
c) 20
d) 15
e) 35
Answer:B
Solution:
Let pipe A fill the tank in 2x and pipe B fill it in 3x hours
In one hour they will fill
= 1/2x+ 1/3x= 5/6x
When pipe is also opened then it takes
= 6x/5 + 6x/5 *3/4
= 42x/20
When in one hour pipe A, B and C working together fill
= 1/2x+ 1/3x – 1/C= 20/42x
= 1/C= 15/42x
= C= 42x/15
So, in 42x/15 hours C can empty the whole tank
Now,
42x/20= 30
x= 30*20/42
x= 100/7
Time required by pipe C= 42/15 *100/7= 40 hours
117. In a box carrying one dozen of apples, one third have
become bad. If 3 apples are taken out from the box at
random, what is the probability that at least one apple out of
the three apples picked up is good?
a) 44/65
b) 12/55
c) 54/55
d) 34/45
e) None of these
Answer:C
Solution:
At least one good means either one apple good or two good
or all three good.
We can find the required probability by finding the
Probability(of the all bad apples) and subtracting it from 1:

P (at least one good) = 1 – P (all bad)

1=1=
118. A circle of maximum area is cut out from a rectangular
sheet of area 72 square cm. If the ratio of length to breadth
of the rectangular sheet is 2: 1, then find the area of the
remaining sheet after the circle is cut out? [Use pie = 3]
a) 48
b) 54
c) 45
d) 58
e) 42
Answer:C
Solution:
Let the length and breadth of the rectangular sheet be ‗2x‘
and ‗x‘ cm respectively
2x x x = 72
=
So, the length and breadth of the rectangular sheet = 12 cm
and 6 cm respectively
So, the diameter of the circle cut out = breadth of the
rectangular sheet = 6 cm
Area of the remaining sheet =
So option (c) is the correct answer.
119. 40 Men could have finished the whole project in 28
days but due to the inclusion of a few more men, work got
done in 3/4thof the time. Find the ratio of new men to
number of old men.
a) 1 : 3
b) 9 : 2
c) 5 : 1
d) 3 : 9
e) None of these
Answer:A
Solution:
Let new men
th of time
(40 + n) 21

n
28
40

21 days
28

N
Desired ratio
1:3
120. Ratio of copper to zinc in two alloys is 4 : 5 and 5 : 2,
respectively. If 18kg of 1st alloy is mixed with x kg of
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2nd alloy, the ratio of copper to zinc in the new alloy is 19 :
11. Find the value of x.
a) 36 kg
b) 35 kg
c) 42 kg
d) 51 kg
e) 56 kg
Answer:C
Solution:
Ratio of copper to zinc in 1st alloy = 4 : 5
Ratio of copper to zinc in 2nd alloy = 5 : 2
In 18 kg of 1st alloy, amount of copper = (4/9) × 18 = 8kg
Amount of zinc = 10kg
In x kg of 2nd alloy, amount of copper = (5/7) × x = 5x/7
Amount of zinc = 2x/7
Ratio of copper and zinc in new alloy

Thus,
⇒616 + 55x = 1330 + 38x
⇒714 = 17x
⇒x = 42 kg
121. A shopkeeper marked the product somewhat higher
than the cost price and sold it at a certain discount. Find the
cost price of the article.
Statement I: shopkeeper marked the article at 40% above the
cost price and sold it at a discount of 20% on marked price.
In this traction he had a profit of Rs. 156.
Statement II: Shopkeeper marked the article at Rs. 520
above the cost price and sold it at a discount of 20% on
marked price.. In this transaction he made a profit of 12%.
a) If the data in statement I alone is sufficient to answer the
question, while the data in statement II alone is not
sufficient to answer the question
b) If the data in statement II alone is sufficient to answer
the question, while the data in statement I alone is not
sufficient to answer the question
c) If the data either in statement I alone or in statement II
alone is sufficient to answer the question
d) If the data in both statements I and II together are
necessary to answer the question
e) If the data given in both statements I and II together are
not sufficient to answer the question.
Answer:C
Solution:
Statement I:
Let the cost price of the article be ‗x‘.
Marked price of the article = 1.40 x x = Rs. 1.4 x
Selling price of the article = 0.80 x 1.4x = Rs. 1.12x
Profit = 1.12x – x = 156
x = 1300
So, the cost price of the article = 1300
Thus, statement I alone is sufficient to answer the question
Statement II:

Let the cost price of the article be ‗x‘.
Marked price of the article = x+520
Selling price of the article = Rs. 1.12x = 0.80 x (x+520)
x = 1300
So, the cost price of the article = 1300
Thus, statement II alone is sufficient to answer the question
So option (c) is the correct answer.
122. Find the present age of Prashant.
Statement I: Age of Abhishek is average of age of Akshay
and Prashant and age of Abhishek is 14 years less than twice
the age of himself 4 years ago. Ratio of present age of
Prashant to Akshay is 7: 4, respectively.
Statement II: Age of Akshay is 2 years more than half of age
of Prashant. Age of Prashant is 10 years less than the sum of
present age of Akshay and Abhishek. Abhishek is 6 years
younger than Prashant.
a) If the data in statement I alone is sufficient to answer the
question, while the data in statement II alone is not
sufficient to answer the question
b) If the data in statement II alone is sufficient to answer
the question, while the data in statement I alone is not
sufficient to answer the question
c) If the data either in statement I alone or in statement II
alone is sufficient to answer the question
d) If the data in both statements I and II together are
necessary to answer the question
e) If the data given in both statements I and II together are
not sufficient to answer the question.
Answer:C
Solution:
Statement I:
Age of Abhishek = (Akshay + Prashant) / 2
Also, Abhishek = 2 x (Abhishek – 4) – 14
Abhishek = 2 x Abhishek – 8 – 14
Abhishek = 2 x Abhishek – 22
Abhishek = 22
Therefore, Akshay + Prashant = 2x22=44
So, age of Prashant =
years
Statement II:
Akshay = 2 + (Prashant / 2)
Also, Prashant = Akshay + Prashant – 10
Also, Abhishek = Prashant – 6
Using all three equations,
Prashant = 2+(Prashant /2) + Prashant – 6 – 10
Prashant /2 = 14
Prashant = 28
So option (c) is the correct answer.
123. Find the value of x
Statement I: A person lent out a sum of Rs. 2400 in the ratio
of 5: x in scheme A and scheme B, respectively. Scheme A
is offering a simple interest of 8% per annum and Scheme B
is offering a simple interest of 3(x+1)% per annum. Interest
earned from scheme A after 2 years is Rs. 24 more than the
interest earned from scheme B after 2 years.
Statement II: A person lent out a sum of Rs. 2400 in the
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ratio of 5: 3 in scheme A and scheme B, respectively.
Scheme A is offering a simple interest of 8% per annum and
Scheme B is offering a simple interest of 3(x+1)% per
annum. Simple Interest earned from scheme A after 9 years
is equal to the interest earned from scheme B after (x+7)
years.
a) If the data in statement I alone is sufficient to answer the
question, while the data in statement II alone is not
sufficient to answer the question
b) If the data in statement II alone is sufficient to answer
the question, while the data in statement I alone is not
sufficient to answer the question
c) If the data either in statement I alone or in statement II
alone is sufficient to answer the question
d) If the data in both statements I and II together are
necessary to answer the question
e) If the data given in both statements I and II together are
not sufficient to answer the question.
Answer:C
Solution:
Statement I:
Amount lent out in scheme A =
Amount lent out in scheme B =
According to the question,

120x16-144(x+1)=24(5+x)

x=3
So option (c) is the correct answer.
124. Pipes A, B and C are connected to a tank. Pipe A and
Pipe B are inlet pipes and pipe C is outlet pipe. In how many
hours the empty tank is filled if all the pipes are opened
together?
Statement I: If pipe B and pipe C is connected, the tank is
filled in 10 hours. Pipe C alone can empty the full tank in 40
hours.
Statement II: Pipe B alone can fill the tank in 8 hours. Pipe
A and C together can fill the tank in hours.
a) If the data in statement I alone is sufficient to answer the
question, while the data in statement II alone is not
sufficient to answer the question
b) If the data in statement II alone is sufficient to answer
the question, while the data in statement I alone is not
sufficient to answer the question
c) If the data either in statement I alone or in statement II
alone is sufficient to answer the question
d) If the data in both statements I and II together are
necessary to answer the question
e) If the data given in both statements I and II together are
not sufficient to answer the question.
Answer:B
Solution:
Statement I:
Let, pipe B alone can fill the empty tank in x hours
So, according to the question,
=
=x=8
So, pipe B alone can fill the empty tank in 8 hours
Here we have no data given about pipe A
So, statement I alone is not sufficient to answer the question
Statement II:
Time taken by Pipe A and C alone to fill the empty tank =
hours

Statement II:
Amount lent out in scheme A =
Amount lent out in scheme B = 2400 – 1500 = 900
According to the question,
1500x8x9=900x3(x+1)x(x+7)

Time taken to fill the tank =
So, statement II alone is sufficient to answer the question.
So option (b) is the correct answer.
125. Two trains A and B are moving in opposite directions.
Length of train B is 40% more than the length of train A.
find the time taken by trains to cross each other.
Statement I: Train A of length ‗x‘ meter crosses a pole and a
platform of length ‗x+100‘ meter in 6 seconds and 16
seconds respectively.
Statement II: Train B of length ‗y‘ meter crosses a pole and
a platform of length ‗y+60‘ meter in 7 seconds and 16
seconds respectively.
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a) If the data in statement I alone is sufficient to answer the
question, while the data in statement II alone is not
sufficient to answer the question
b) If the data in statement II alone is sufficient to answer
the question, while the data in statement I alone is not
sufficient to answer the question
c) If the data either in statement I alone or in statement II
alone is sufficient to answer the question
d) If the data in both statements I and II together are
necessary to answer the question
e) If the data given in both statements I and II together are
not sufficient to answer the question.
Answer:D
Solution:
Statement I:

223 × 4 +

= 1017

1017 × 5 + = 5301
127. 10395, 20790, 13860, 5543, 1584,
a) 10395
b) 20790
c) 13860
d) 5543
e) 1584
Answer:D
Solution:
10395 × = 20790
20790 × = 13860

Speed of train A =
x = 150
So length of train A = 150

13860 × = 5544
5544 × = 1584

Speed of train A =
Here we are not given the speed of B
So, statement I alone is not sufficient to answer the question
Statement II:
Speed of train B =
y = 210
So length of train B = 210
Speed of train B =
Here we are not given the speed of A
So, statement II alone is not sufficient to answer the
question
Now combining statement I and statement II
Time taken to cross each other =
So, both the statements are necessary to answer the
question.
So option (d) is the correct answer.
S=126-130):Passage:
Direction: What of the following number in the series is
wrong?
126. 5, 13, 53, 223, 1016, 5301
a) 13
b) 53
c) 1016
d) 223
e) 5301
Answer:C
Solution:
5
13
53 × 3 +

= 13
= 53
= 223

1584 × = 352
128. 720, 360, 240, 182, 144
a) 720
b) 182
c) 360
d) 240
e) 144
Answer:B
Solution:
720 ×

= 360

360 ×

= 240

240 ×

= 180

180 ×

= 144

129. 145, 149, 142, 151, 135 , 160
a) 149
b) 151
c) 135
d) 160
e) None of these
Answer:A
Solution:
The series is
145 +12= 146
146 - 22= 142
142+32= 151
151 - 42= 135
135 +52= 160
So, 149 is the wrong number in the series.
130. 183, 366, 120, 488, 97.6 , 585.6
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a) 183
b) 120
c) 585.6
d) 366
e) None of these
Answer:B
Solution:
The series is
183 *2= 366
366÷3= 122
122*4= 488
488÷5= 97.6
97.6*6= 585.6
So, 120 is the wrong number in the series.
131. Two articles A and B, having same marked price have
been sold at 15% and 12% discounts, respectively. The
profit earned on articles A and B was 6.25% and
20%respectively. The cost price of article B was Rs. 160
less than the cost price of article A. Find the marked price of
each articlE.
a) Rs. 2000
b) Rs. 2500
c) Rs. 2400
d) Rs. 2800
e) Rs. 2200
Answer:C
Solution:
Let the marked price of each article was Rs. ‗x‘
Then, the selling price of article A = 85% of x = Rs.
And, the selling price of article B = 88% of x = Rs.
Cost price of article A =
Cost price of article B =
According to the question,

e) None of these
Answer:B
Solution:
Let, the amount lent by Akshay = Rs. x
Amount of Akshay after one year =

Interest earned by Akshay in 2 nd year =

Amount of Akshay after two years =

Interest earned by Akshay in 3 rd year =

So,
=
=
=x = 12500
Therefore, amount lent by Akshay = Rs. 12500
So option (b) is the correct answer.
133. The radii and heights of a right circular cylinder and a
cone are equal separately. If their curved surface areas are in
the ratio of 48:25.
1) what is the ratio of the radii of their bases and heights is?
2) What is the ratio of their Total surface area?
a) 7:24, 31:16
b) 7:24, 33:16
c) 7:25, 31:16
d) 7:25, 33:16
e) None of these
Answer:A
Solution:
Curved surface area of cylinder = 2

So,
=
Therefore, the marked price of each article = Rs. 2400
So option (c) is the correct answer.
132. Akshay lent some money at compound interest at the
rate of 12% per annum. After every year, he increased the
rate of interest by 8% i.E. in the 2nd year the interest rate will
be 20%. The difference between the interest earned only in
3rd year and interest earned only in 2nd year was Rs. 1904.
Find the amount lent by Akshay
a) Rs. 15625
b) Rs. 12500
c) Rs. 9375
d) Rs. 18750

Curved surface area of cone =

So h = 24 , l=25

= 625 – 576
r=7
so r : h = 7 : 24
Total surface area of cylinder =
Total surface area of cone =
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Direction: What approximate value should come in place
of the question marks (?) in the following questions?
(Note: you are not expected to calculate the exact value.)
136.

134. Ten years ago, the ages of the members of a joint
family of eight people added up to 231 years. then Three
years later, one member died at the age of 60 years and a
child was born during the same years. then After another
three years, one more member died again at 60, and a child
was born during the same years. The current average age of
this eight-member joint family is nearest to:
a) 32 years
b) 31 years
c) 33 years
d) 24 years
e) 34 years
Answer:D
Solution:
Ten years ago total age of family = 231 years
Seven years ago total age of family = (231 + 8 × 3) – 60=
195 years
Four years ago total age of family = 195 + 8 × 3 – 60= 159
years
Their present age= 159 + 8 × 4 = 191

Average age =
= 24 years
135. Four different integers are such that sum of extreme
numbers is 21 and sum of rest two is 19.The sum of the
squares of all numbers is 442. What is the maximum number
among all four?
a) 7
b) 9
c) 12
d) 15
e) 17
Answer:D
Solution:
Let a, b, c and d are integers such that a<b<c<d
Given: a + d = 21 ___ eq(1)
b + c = 19 ___ eq(2)
a2 + b2 + c2 + d2 = 442 ___ eq(3)
Squaring equation 1 and 2 and subtracting the sum with
equation 3
2ad + 2bc = 360 ___ eq(4)
Eq(3) – eq(4)
(d-a)2 + (c-b)2 = 82
In above equation 82 has to be some of perfect squares
82 = 81 + 1 ⇒ d – a = 9 and c – b = 1
From this and eq(1) and (2) we get a = 6, b = 9, c= 10, d =
15
S=136-140):Passage:

a) 0
b) 31
c) 18
d) 9
e) -7
Answer:A
Solution:
By taking the approximate value for the expression, we
have

So option (a) is the correct answer.
137.
a) 84
b) 285
c) 129
d) 3
e) 324
Answer:C
Solution:
By taking the approximate value for the expression, we
have

So option (c) is the correct answer.
138.
a) 23
b) 77
c) 61
d) 192
e) 431
Answer:A
Solution:
By taking the approximate value for the expression, we
have
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? = 23
So option (a) is the correct answer.
139.
a) 118
b) 332
c) 7
d) 41
e) 87
Answer:D
Solution:
By taking the approximate value for the expression, we
have

So option (d) is the correct answer.
140.
a) 145
b) 199
c) 297
d) 98
e) 234
Answer:B
Solution:
By taking the approximate value for the expression, we
have

So option (b) is the correct answer.
#SUBJECT#REASONING
S=141-145):Passage:
Direction: Read the following information carefully and
answer the questions given below it.
Six subjects Mathematics, Hindi, English, Science,
Accounts and Economics are taught at a coaching centre.
Each subject was given a definite and continuous time
slot. In a day total 14 hours class was scheduled.

A subject can start its slot from a whole hour or half hour
only (i.e. a subject can start from 2 pm or 2:30 pm but it
cannot starts from 2:07). Mathematics class takes place from
11am to 12:30 pm. Only one class took place between
Mathematics and Science. Time slot of Science is twice the
time slot of mathematics. Accounts classes starts from 5:30
pm. English class took place somewhere in between
Mathematics and Accounts but it did not takes place
immediately after or before Accounts. Total slot time of
Hindi and Economics class is 4.5 hours. Number of classes
took place between Economics and Accounts is same as the
number of classes between English and Economics. Time
slot of English is 1 hour less than the time slot of Science.
141. What is the time slot duration of Accounts class?
a) 2 hours
b) 1.5 hours
c) 3 hours
d) 1 hour
e) Cannot be determined
Answer:C
Solution:
Subjects - Mathematics, Hindi, English, Science, Accounts
and Economics
1. Mathematics class takes place from 11am to 12:30 pm.
Time slot of Science is twice the time slot of mathematics.
Hence, time slot of Science class is 3 hours.
Time slot of English is 1 hour less than the time slot of
Science.
Hence, time slot of English class is 2 hours.
Number of classes took place between Economics and
Accounts is same as the number of classes between English
and Economics. English class took place between
Mathematics and Accounts but it did not takes place
immediately after or before Accounts. Only one class took
place between Mathematics and Science.

2. Accounts classes starts from 5:30 pm.
Hence, time slot of Economics class is 3 hours.
Total slot time of Hindi and Economics class is 4.5 hours.
Time slot of Hindi class is = 4.5 – 3 = 1.5 hours
Mathematics class takes place from 11am to 12:30 pm.
Time slot of Science is twice the time slot of mathematics.
Hence, time slot of Science class is 3 hours.
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Total time for the whole day = 14 hours
3 hours + 1.5 hours + 1.5 hours + 2 hours + 3 hours + Time
slot of Accounts = 14 hours
11 hours + Time slot of Accounts = 14 hours
Time slot of Accounts = 14 – 11 = 3 hours

Hence, total time slot of Accounts class is 3 hours.
142. Which of the following class is immediately held after
English class?
a) Accounts
b) Economics
c) Science
d) Hindi
e) Mathematics
Answer:B
Solution:
Subjects - Mathematics, Hindi, English, Science, Accounts
and Economics
1. Mathematics class takes place from 11am to 12:30 pm.
Time slot of Science is twice the time slot of mathematics.
Hence, time slot of Science class is 3 hours.
Time slot of English is 1 hour less than the time slot of
Science.
Hence, time slot of English class is 2 hours.
Number of classes took place between Economics and
Accounts is same as the number of classes between English
and Economics. English class took place between
Mathematics and Accounts but it did not takes place
immediately after or before Accounts. Only one class took
place between Mathematics and Science.

2. Accounts classes starts from 5:30 pm.
Hence, time slot of Economics class is 3 hours.
Total slot time of Hindi and Economics class is 4.5 hours.
Time slot of Hindi class is = 4.5 – 3 = 1.5 hours
Mathematics class takes place from 11am to 12:30 pm.
Time slot of Science is twice the time slot of mathematics.
Hence, time slot of Science class is 3 hours.

Total time for the whole day = 14 hours
3 hours + 1.5 hours + 1.5 hours + 2 hours + 3 hours + Time
slot of Accounts = 14 hours
11 hours + Time slot of Accounts = 14 hours
Time slot of Accounts = 14 – 11 = 3 hours

Hence, Economics class is held after English class.
143. How many classes took place between Science and
Accounts?
a) None
b) One
c) Two
d) Three
e) Four
Answer:E
Solution:
Subjects - Mathematics, Hindi, English, Science, Accounts
and Economics
1. Mathematics class takes place from 11am to 12:30 pm.
Time slot of Science is twice the time slot of mathematics.
Hence, time slot of Science class is 3 hours.
Time slot of English is 1 hour less than the time slot of
Science.
Hence, time slot of English class is 2 hours.
Number of classes took place between Economics and
Accounts is same as the number of classes between English
and Economics. English class took place between
Mathematics and Accounts but it did not takes place
immediately after or before Accounts. Only one class took
place between Mathematics and Science.

2. Accounts classes starts from 5:30 pm.
Hence, time slot of Economics class is 3 hours.
Total slot time of Hindi and Economics class is 4.5 hours.
Time slot of Hindi class is = 4.5 – 3 = 1.5 hours
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Mathematics class takes place from 11am to 12:30 pm.
Time slot of Science is twice the time slot of mathematics.
Hence, time slot of Science class is 3 hours.

Total time for the whole day = 14 hours
3 hours + 1.5 hours + 1.5 hours + 2 hours + 3 hours + Time
slot of Accounts = 14 hours
11 hours + Time slot of Accounts = 14 hours
Time slot of Accounts = 14 – 11 = 3 hours

Hence, five classes took place between Science and
Accounts.
144. At what time did Hindi class starts?
a) 2:30pm – 5:30pm
b) 6:30 am – 9:30am
c) 9:30 am – 11:00am
d) 12:30pm – 2:30pm
e) 6:00am – 9:00 am
Answer:C
Solution:
Subjects - Mathematics, Hindi, English, Science, Accounts
and Economics
1. Mathematics class takes place from 11am to 12:30 pm.
Time slot of Science is twice the time slot of mathematics.
Hence, time slot of Science class is 3 hours.
Time slot of English is 1 hour less than the time slot of
Science.
Hence, time slot of English class is 2 hours.
Number of classes took place between Economics and
Accounts is same as the number of classes between English
and Economics. English class took place between
Mathematics and Accounts but it did not takes place
immediately after or before Accounts. Only one class took
place between Mathematics and Science.

2. Accounts classes starts from 5:30 pm.

Hence, time slot of Economics class is 3 hours.
Total slot time of Hindi and Economics class is 4.5 hours.
Time slot of Hindi class is = 4.5 – 3 = 1.5 hours
Mathematics class takes place from 11am to 12:30 pm.
Time slot of Science is twice the time slot of mathematics.
Hence, time slot of Science class is 3 hours.

Total time for the whole day = 14 hours
3 hours + 1.5 hours + 1.5 hours + 2 hours + 3 hours + Time
slot of Accounts = 14 hours
11 hours + Time slot of Accounts = 14 hours
Time slot of Accounts = 14 – 11 = 3 hours

Hence, Hindi class starts at 9:30 am – 11:00 am.
145. What is the total time slot of English and Hindi class?
a) 2 hours
b) 1.5 hours
c) 4 hours
d) 3.5 hours
e) 3 hours
Answer:D
Solution:
Subjects - Mathematics, Hindi, English, Science, Accounts
and Economics
1. Mathematics class takes place from 11am to 12:30 pm.
Time slot of Science is twice the time slot of mathematics.
Hence, time slot of Science class is 3 hours.
Time slot of English is 1 hour less than the time slot of
Science.
Hence, time slot of English class is 2 hours.
Number of classes took place between Economics and
Accounts is same as the number of classes between English
and Economics. English class took place between
Mathematics and Accounts but it did not takes place
immediately after or before Accounts. Only one class took
place between Mathematics and Science.
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d) None conclusion follow
e) None of these
Answer:C
Solution:

2. Accounts classes starts from 5:30 pm.
Hence, time slot of Economics class is 3 hours.
Total slot time of Hindi and Economics class is 4.5 hours.
Time slot of Hindi class is = 4.5 – 3 = 1.5 hours
Mathematics class takes place from 11am to 12:30 pm.
Time slot of Science is twice the time slot of mathematics.
Hence, time slot of Science class is 3 hours.

Total time for the whole day = 14 hours
3 hours + 1.5 hours + 1.5 hours + 2 hours + 3 hours + Time
slot of Accounts = 14 hours
11 hours + Time slot of Accounts = 14 hours
Time slot of Accounts = 14 – 11 = 3 hours

Hence, total time slot of English and Hindi class is 3.5
hours.
S=146-150):Passage:
Direction: In question below, there are given three
statements followed by three conclusions numbered I, II
and III . You have to take the given statements to be true
even if they seem to be at variance with commonly
known facts. Read all conclusions and then decide which
of the given conclusions logically follows from the given
statements, disregarding commonly known facts.
146. Statements:
Some Actors are Actress.
No Actress is Director.
All Producers are Directors.
Conclusions:
1) Some Producers are Actress.
2) Some Actor are Director is a possibility.
3) Some Producers are Actor is a possibility.
a) Only conclusion 1 follows
b) Only conclusion 2 follows
c) Both conclusion 2 and 3 follow

147. Statements:
All Gangas are Yamuna.
All Narmada are Gangas.
All Tapti are Narmada.
Conclusions:
1) Some Gangas are Tapti.
2) Some Yamuna are not Narmada.
3) All Gangas are Narmada.
a) Only conclusion 1 follow
b) Both conclusion 1 and 2 follow
c) Only conclusion 3 follows
d) Both conclusion 1 and 3 follows
e) None of these
Answer:C
Solution:

148. Statements:
All the pens are inks.
All the inks are pencils.
Some watches are pencils.
Conclusions:
1) Some pencils are pens.
2) Some watches are inks.
3) All the inks are pens.
a) Only (1) and (2)
b) Only (1)
c) Only (2)
d) Only (1) and (3)
e) All (1), (2) and (3)
Answer:B
Solution:

149. Statements:
No charger is a mobile.
Some mobiles are sim.
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No network is a charger.
Conclusion:
1) All chargers are not network.
2) Some sim are not chargers.
3) No network is a mobile.
a) Only I and II follow
b) Only II and III follow
c) Only I and III follow
d) All follow
e) None follows
Answer:A
Solution:
I. All chargers are not network - Since, No network is a
charger, so it will follow.
II. Some sim are not chargers - Since, no mobile is charger
and some of the part of sim is in mobile, So it will follow.
III. No network is a mobile - There is no direct relationship
between network and mobile. Hence, it will not follow.

150. Statements:
All bulbs are chairs.
All chairs are tables.
All tables are mirrors.
Conclusions:
1) Some mirrors are bulbs.
2) Some tables are bulbs.
3) All chairs are mirrors.
a) Only I and II follows
b) Only I and III follows
c) Only II and III follows
d) All follows
e) None of these
Answer:D
Solution:

S=151-155):Passage:
Direction: Each of the questions below consists of a
question and three statements numbered I, II and III are
given below it. You have to decide whether the data
provided in the statements are sufficient to answer the
question.
151. Who among Reena, Meena, Renu, Roma, Rahul and
Reshu each having different heights, who is the tallest?
I. Meena is taller than Reena but shorter than Rahul

II. Only two of them are shorter than Renu.
III. Roma is taller than only Reshu.
a) Only I and III are sufficient to answer the question.
b) Only I and II are sufficient to answer the question.
c) Only II and III are sufficient to answer the question.
d) All conclusions I, II and III are sufficient to answer the
question.
e) None of these
Answer:D
Solution:
From I: Rahul > Meena > Reena
From II : _> _> _Renu > _ > _
From III : _> _> _ > _ > Roma >_
From I, II and III : Rahul > Meena > Reena>Renu > Roma >
Reshu. So option D is correct.
152. On which day of the week did Rohit visit Pune ?
Assume that the week starts from Monday)
I. Rohit took leave on Wednesday.
II. Rohit visited Pune the day after his mother's visit to his
house.
III. Rohit's mother visited Rohit's house neither on Monday
nor on Thursday.
a) Only I and III are sufficient to answer the question.
b) Only I and II are sufficient to answer the question.
c) Only II and III are sufficient to answer the question.
d) All conclusions I, II and III are sufficient to answer the
question.
e) Can't be determined
Answer:E
Solution:
From I: Rohit took leave on Wednesday.
From II: Rohit visited Pune the day after his mother's visit to
his house.
From III: Rohit's mother visited Rohit's house neither on
Monday nor on Thursday.
Now From I, II and III: From I, II and III we are not able to
decide when Rohit‘s mother visited Rohit‘s house. So we
can‘t determined the answer.
153. There are six letters T, E, C, O, R and S. Is the word
SECTOR formed of their performing the following
operations, using these six letter only?
I. O is placed fourth to the right of S. C is not placed
immediately next to either S and O.
II. R is placed immediate next either left or right to O.
III. Both E and T are placed immediate neighbour to C. The
word does not begin with C. S is not an immediate
neighbour of T.
a) Only I and II are sufficient to answer the question.
b) Only I is sufficient to answer the question.
c) Only II is sufficient to answer the question.
d) Only II and III are sufficient to answer the question.
e) None of these
Answer:E
Solution:
From I: O is placed fourth to the right of S. C is not placed
immediately next to either S and O. S_,C,_O_
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From II: R is placed immediate next either left or right to O.
RO or OR
From III: Both E and T are placed immediate neighbour to
C. The word does not begin with C. S is not an immediate
neighbour of T.
E/T, C, T/E
From I, II and III: S, E, C, T, O, R. So from I, II and III we
can find answer. And option E. is correct).
154. How is ‗tiger‘ written in a certain code language?
I. ‗brown wild animal tiger‘ is written as ‗jh,yu,ol,ds‘ in that
code language.
II. ‗tiger dangers animal‘ is written as ‗yu, rt, ol‘ in that code
language.
III. ‗tiger lives in forest‘ is written as ‗yu, se, re, mn‘ in that
code language. .
a) All conclusions I, II and III are sufficient to answer the
question.
b) Only II is sufficient to answer the question.
c) Only I and II are sufficient to answer the question.
d) Only I and III conclusions are sufficient to answer the
question.
e) Only either I and III or either II and III are sufficient to
answer the question.
Answer:E
Solution:
From I and III:
I. ‗brown wild animal tiger‘ is written as ‗jh,yu,ol,ds‘ in that
code language.
III. ‗tiger lives in forest‘ is written as ‗yu, se, re, mn‘ in that
code language.
‗tiger‘ can coded as ‗yu‘.
From II and III:
II. ‗tiger dangers animal‘ is written as ‗yu, rt, ol‘ in that code
language.
III. ‗tiger lives in forest‘ is written as ‗yu, se, re, mn‘ in that
code language.
‗tiger‘ can coded as ‗yu‘. So option E. is correct.
155. Who is brother in law of Sheetal?
I. Sheetal is married to brother of Rekha. Rita is daughter of
Sheetal.
II. Rohit and Raju is the two brother of Rekha.
III. Only Rohit has no child.
a) Only I and III are sufficient to answer the question.
b) All I, II and III are required to answer the question.
c) Only II and III are sufficient to answer the question.
d) Question cannot be answered even with All I, II and III.
e) Only I and II are sufficient to answer the question.
Answer:B
Solution:
From I : Sheetal is married to brother of Rekha. Rita is
daughter of Sheetal.
From II: Rohit and Raju is the two brother of Rekha.
III. Only Rohit has no child.
From I, II and III: Sheetal is married to brother of Rekha,
Rohit and Raju is the two brother of Rekha. Rita is daughter
of Sheetal. Only Rohit has no child. i.e. Sheetal is married to

Raju and Rita is daughter of Sheetal and Raju. And as Rohit
is brother of Raju so Rohit is Sheetal‘s Brother-in-law also.
So option B. is correct.
S=156-160):Passage:
Direction: Study the following information carefully to
answer the questions. A word-and- number arrangement
machine, when given input line of words and numbers,
rearranges them following a particular rule in each step.
The following is an illustration of input and its
rearrangement.
Input: 99 performance 66 87 59 penetrate festivity
counterpart comparable 33
Step I: comparable 99 performance 66 87 59 penetrate
festivity counterpart 33
Step II: 99 comparable performance 66 87 59 penetrate
festivity counterpart 33
Step III: counterpart 99 comparable performance 66 87 59
penetrate festivity 33
Step IV: 87 counterpart 99 comparable performance 66 59
penetrate festivity 33
Step V: festivity 87 counterpart 99 comparable performance
66 59 penetrate 33
Step VI: 66 festivity 87 counterpart 99 comparable
performance 59 penetrate 33
Step VII: penetrate 66 festivity 87 counterpart 99
comparable performance 59 33
Step VIII: 59 penetrate 66 festivity 87 counterpart 99
comparable performance 33
Step IX: performance 59 penetrate 66 festivity 87
counterpart 99 comparable 33
Step X: 33 performance 59 penetrate 66 festivity 87
counterpart 99 comparable
And Step X is the last step of the above input.
As per the rules followed in the above steps, find out in each
of the following in the above steps, find out in each of the
following questions, the appropriate step for the given
input.
Input: genocide 97 impression 65 43 polite 32 tremendous
trench 12
156. Which step number is the following output?
tremendous 43 polite 65 impression 97 genocide 32 trench
12
a) I
b) III
c) VI
d) IV
e) There is no such step
Answer:C
Solution:
The machine rearranges the words and the numbers by one
by one from the left. First words arranged as they appear in
alphabet series and in the next step numbers are arranged in
descending order.
Input: genocide 97 impression 65 43 polite 32 tremendous
trench 12
Step I: 97 genocide impression 65 43 polite 32 tremendous
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trench 12
Step II: impression 97 genocide 65 43 polite 32 tremendous
trench 12
Step III: 65 impression 97 genocide 43 polite 32 tremendous
trench 12
Step IV: polite 65 impression 97 genocide 43 32 tremendous
trench 12
Step V: 43 polite 65 impression 97 genocide 32 tremendous
trench 12
Step VI: tremendous 43 polite 65 impression 97 genocide 32
trench 12
Step VII: 32 tremendous 43 polite 65 impression 97
genocide trench 12
Step VIII: trench 32 tremendous 43 polite 65 impression 97
genocide 12
Step IX: 12 trench 32 tremendous 43 polite 65 impression
97 genocide 12
Step VI: tremendous 43 polite 65 impression 97 genocide 32
trench 12.
So answer is option C.
157. What is the position of ‗genocide‘ from the left of ‗32‘
in the step III?
a) Eighth
b) Third
c) Fifth
d) Ninth
e) Seventh
Answer:B
Solution:
The machine rearranges the words and the numbers by one
by one from the left. First words arranged as they appear in
alphabet series and in the next step numbers are arranged in
descending order.
Input: genocide 97 impression 65 43 polite 32 tremendous
trench 12
Step I: 97 genocide impression 65 43 polite 32 tremendous
trench 12
Step II: impression 97 genocide 65 43 polite 32 tremendous
trench 12
Step III: 65 impression 97 genocide 43 polite 32 tremendous
trench 12
Step IV: polite 65 impression 97 genocide 43 32 tremendous
trench 12
Step V: 43 polite 65 impression 97 genocide 32 tremendous
trench 12
Step VI: tremendous 43 polite 65 impression 97 genocide 32
trench 12
Step VII: 32 tremendous 43 polite 65 impression 97
genocide trench 12
Step VIII: trench 32 tremendous 43 polite 65 impression 97
genocide 12
Step IX: 12 trench 32 tremendous 43 polite 65 impression
97 genocide 12
‗genocide‘ third from the left of ‗32‘ in the step III. So
answer is option B.

158. Which of the following is the sixth element to the right
of ‗43‘ in the second last step?
a) 12
b) tremendous
c) 43
d) 65
e) None of these
Answer:A
Solution:
The machine rearranges the words and the numbers by one
by one from the left. First words arranged as they appear in
alphabet series and in the next step numbers are arranged in
descending order.
Input: genocide 97 impression 65 43 polite 32 tremendous
trench 12
Step I: 97 genocide impression 65 43 polite 32 tremendous
trench 12
Step II: impression 97 genocide 65 43 polite 32 tremendous
trench 12
Step III: 65 impression 97 genocide 43 polite 32 tremendous
trench 12
Step IV: polite 65 impression 97 genocide 43 32 tremendous
trench 12
Step V: 43 polite 65 impression 97 genocide 32 tremendous
trench 12
Step VI: tremendous 43 polite 65 impression 97 genocide 32
trench 12
Step VII: 32 tremendous 43 polite 65 impression 97
genocide trench 12
Step VIII: trench 32 tremendous 43 polite 65 impression 97
genocide 12
Step IX: 12 trench 32 tremendous 43 polite 65 impression
97 genocide 12
‗12‘ is the sixth element to the right of ‗43‘ in the second
last step. So answer is option A.
159. In step VIII, which element appear extreme left and
right end?
a) ‗trench‘ and ‗32‘
b) ‗32‘ and ‗12‘
c) ‗tremendous‘ and ‗12‘
d) ‗43‘ and ‗12‘
e) None of these
Answer:E
Solution:
The machine rearranges the words and the numbers by one
by one from the left. First words arranged as they appear in
alphabet series and in the next step numbers are arranged in
descending order.
Input: genocide 97 impression 65 43 polite 32 tremendous
trench 12
Step I: 97 genocide impression 65 43 polite 32 tremendous
trench 12
Step II: impression 97 genocide 65 43 polite 32 tremendous
trench 12
Step III: 65 impression 97 genocide 43 polite 32 tremendous
trench 12
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Step IV: polite 65 impression 97 genocide 43 32 tremendous
trench 12
Step V: 43 polite 65 impression 97 genocide 32 tremendous
trench 12
Step VI: tremendous 43 polite 65 impression 97 genocide 32
trench 12
Step VII: 32 tremendous 43 polite 65 impression 97
genocide trench 12
Step VIII: trench 32 tremendous 43 polite 65 impression 97
genocide 12
Step IX: 12 trench 32 tremendous 43 polite 65 impression
97 genocide 12
In step VIII, ‗trench‘ and ‗12‘ appear extreme left and right
end. So answer is option E.
160. Which of the following is the input of the output?
43 polite 65 impression 97 genocide 32 tremendous trench
12
a) III
b) VI
c) V
d) Cant be determined
e) None of these
Answer:D
Solution:
The machine rearranges the words and the numbers by one
by one from the left. First words arranged as they appear in
alphabet series and in the next step numbers are arranged in
descending order.
Input: genocide 97 impression 65 43 polite 32 tremendous
trench 12
Step I: 97 genocide impression 65 43 polite 32 tremendous
trench 12
Step II: impression 97 genocide 65 43 polite 32 tremendous
trench 12
Step III: 65 impression 97 genocide 43 polite 32 tremendous
trench 12
Step IV: polite 65 impression 97 genocide 43 32 tremendous
trench 12
Step V: 43 polite 65 impression 97 genocide 32 tremendous
trench 12
Step VI: tremendous 43 polite 65 impression 97 genocide 32
trench 12
Step VII: 32 tremendous 43 polite 65 impression 97
genocide trench 12
Step VIII: trench 32 tremendous 43 polite 65 impression 97
genocide 12
Step IX: 12 trench 32 tremendous 43 polite 65 impression
97 genocide 12
Answer can‘t be determined because machine cannot move
backward. So answer is option D.
S=161-165):Passage:
Direction: Study the following information carefully and
answer the related questions.
Seven friends P, Q, R, S, T, U and V participated in a seven
days color festival starting from Monday to Sunday. They
participated in the competition on different days and colors

used by them in the completion are red, blue, yellow, pink,
orange, green and brown but not necessarily in the same
order. Colors used by them are in the form of number of
packets viz. 11, 14, 32, 36, 40, 43 and 49 (but not
necessarily in the same order).
i. The one who participated on Tuesday uses neither pink
nor brown color.
i. 11 packets of red color are used by one who participated
just before U.
ii. R participated on Monday and three persons participated
between R and one who uses green color with packet which
is a perfect square.
iii. Two persons participated between U and one who
participated on Saturday with 43 packets of color.
iv. P participated immediately before V and number of
packets used by P is a perfect square. Color used by P is not
green.
v. Blue,Yellow and brown color is neither used by S nor U.
Packet used on Wednesday is a multiple of seven and is
orange in color.
vi. Difference of packets used by R and T is 8.
vii. Pink color is used before Thursday and blue color is
used after Thursday but not on Saturday.
viii. P used yellow color with packets which is a multiple of
seven. The person who used brown has odd number of
packets.
161. Who participated immediately after R?
a) Q
b) S
c) T
d) V
e) None of these
Answer:B
Solution:

162. Who used brown color?
a) R
b) U
c) Q
d) S
e) None of these
Answer:C
Solution:
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163. How many packets of red color used?
a) 32
b) 43
c) 11
d) 14
e) None of these
Answer:C
Solution:

164. How many colors are used between red and blue?
a) 1
b) 2
c) 3
d) 4
e) None of these
Answer:D
Solution:

165. Which combination is correct?
a) V- Green – 36
b) P- Yellow – 14
c) S- Blue – 11
d) R- Pink – 43
e) None of these
Answer:A
Solution:

S=166-170):Passage:
Direction: Study the following information carefully to
answer the given questions.
Seven colleagues J, K, L, M, N, O and P are sitting in the
straight line facing north each one them likes different
flower and different fruit i.e Lotus, Lichi, Cherry, Jasmine,
Apple, Lily and Grapes also each one of them has a different

designation in a company i.e. Managing Director, CEO,
Editor, Marketing Officer, Finance Officer, HR Officer and
Production Officer but not necessarily in the same order. J
sits third to the right of O and likes Lotus. Neither J nor K
sits extreme ends of the line. N is a Marketing Officer and
sits third to the left of the one who is Managing Director of
the company. Marketing officer does not sit at any end of
the line. P is not the immediate neighbour of J. HR officer
likes Cherry. N sits fourth to the left of M, who does not sit
at any extreme end. Neither N nor J sits extreme ends of the
row and likes Lichi and Editor respectively. The one who is
HR officer does not sit at any extreme end. L is not the HR
officer but neighbour of Finance officer. Neither P nor L
likes Apple. The persons who likes flower not an immediate
neighbour of each other. O likes Jasmine flower but not
CEO of the company. K is not immediate neighbour of M .
166. Who among the following likes Lily ?
a) N
b) M
c) P
d) K
e) None of these
Answer:C
Solution:

167. Who sits at extreme ends of the line?
a) The one who is Managing Director of the company
b) The one who likes Lotus
c) The one who is the CEO of the company
d) An Editor
e) None of these
Answer:C
Solution:

168. Which of the following information is true regarding J
?
a) J is an Editor
b) J sits extreme right end of the line.
c) J is a Managing Director
d) J sits middle of the straight line
e) Both A) and D)
Answer:E
Solution:

169. Who among the following is immediate neighbor of
Finance officer?
a) The one who is Managing Director and P
b) An Editor and Marketing officer
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c) L and J
d) HR officer and J
e) None of these
Answer:A
Solution:

170. Which of the following combination is true as per
given information?
a) L - Apple - Editor
b) P – CEO – Grapes
c) O – Production Officer- Jasmine
d) J – Lotus- CEO
e) None of these
Answer:C
Solution:

S=171-175):Passage:
Direction: Read the following arrangement carefully to
give the answers of following questions.
KZ3+T%&IHN!8$JQ1LM*@YR24#DF
=
171. How many such symbols are there in the above
arrangement each of which is either immediately followed
by a number or immediately preceded by a letter, but not
both?
a) None
b) One
c) Two
d) Three
e) More than 3
Answer:D
Solution:
KZ3+T%&IHN!8$JQ1LM*@YR24#DF=
172. Four of the following five are alike in a certain way.
Which one does not belong to the group?
a) 3 Z D F
b) % T 2 4
c) K T = 4
d) % I 2 Y
e) + # 3 D
Answer:E
Solution:
In all other groups, the 3rd and 4th elements occupy the same
positions from the right in the given arrangement as the first
and 2nd elements respectively from the left end.
173. 3 Z T is to & H % in the same way as Q J L is to?
a) Y R *
b) * Y M
c) @ * R
d) @ Y L
e) None of these

Answer:B
Solution:
In each pair, the 1st , 2nd and 3rd elements of the 1st term
move 4, 7 and 1 steps forward respectively to give the
corresponding elements of the 2nd term.
174. How many such numbers are there each of which is
either immediately followed by a symbol or immediately
preceded by a letter, but not both?
a) None
b) One
c) Two
d) Three
e) More than three
Answer:E
Solution:
KZ3+T%&IHN!8$JQ1LM*@YR24#DF=
175. How many such letters are there, each of which is
either immediately followed by a number or immediately
preceded by a symbol but not both?
a) None
b) One
c) Two
d) Three
e) More than 3
Answer:E
Solution:
K Z 3 + T % & I H N ! 8 $ J Q 10 L M * @ Y R 2 4 # D F =
S=176-178):Passage:
Direction: Study the following information carefully to
answer the given questions:
Point B is 7km north of point A. Point A is 8km east of
point G. Point B is 12km east of point C. Point E is 9km
north of point D which is 12km east of point A.
176. A person starts from point S, walks 9 km and reaches
point T mid-way between points A and D. Then he goes
2km towards south, takes 2 left turns and reaches point D.
How much distance has he travelled?
a) 15km
b) 21km
c) 18km
d) 19km
e) 20km
Answer:D
Solution:
According to question,

Distance travelled = 9 + 2 + 6 + 2 = 19km
177. Point A is in which direction with respect to point E?
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a) North
b) South-West
c) North-East
d) South-East
e) West
Answer:B
Solution:
According to question,

Hence, point A is in south-west direction with respect to
point E.
178. What is the total distance between point G and point
D?
a) 8km
b) 12km
c) 9km
d) 10km
e) 20km
Answer:E
Solution:
According to question,

Hence, the distance between point G and point D is 20km.
S=179-183):Passage:
Direction: Study the information carefully and answer
the questions given below.
7 friends ie, M,N,P,Q,R,S, and O have go to seven different
company each on seven different day of the same week from
Monday to Sunday but not necessarily in the same order.
Each one of them has different Mobile phone but not
necessarily in the same order.
Q who works in Reliance company and has Nokia mobile
phone. The person who works on Tuesday has One plus
mobile phone and there is one day gap between P and N. R
has Jio mobile phone and there are two days gap between R
and the one who works in Dell company. P who works in
Wipro company and goes to company just after day the one
who works in TCS company who has Micromax mobile
phone. O who works in Google company and goes to just
before day the one who works in Facebook company. There
are three days gap between the one who works in Reliance
company and the one who works in Tcs company. The one
who works in Reliance company does not goes on Monday
and N has Samsung mobile phone. There are two days gap

between the one works in Apple company and the one who
works in Google company and the one works in facebook
company has Jio mobile phone. S does not works in TCS
company and does not has Vivo mobile phone. The one
friend in this group has Lenovo mobile phone.
179. M works in which of the following company?
a) Face book
b) TCS
c) Google
d) Apple
e) Dell
Answer:B
Solution:

180. Who is the following person works in Apple company?
a) N
b) R
c) M
d) S
e) P
Answer:D
Solution:

181. If N related Nokia same as O related Jio so P related ?
a) Samsung
b) One plus
c) Lenovo
d) Vivo
e) Micromax
Answer:C
Solution:

BANK MODEL MAIN PAPER EXAM 01 – ANSWER KEY

182. Who is the following person has Lenovo mobile
phone?
a) Q
b) S
c) R
d) O
e) none of these
Answer:B
Solution:

183. How many days gap between the one works in DELL
company and another works in TCS company?
a) One
b) Three
c) Two
d) None
e) Four
Answer:C
Solution:

S=184-186):Passage:
Direction: Study the information given below and
answer the questions that follow.
(i) Seven friends A, B, C, D, E, F and G take a series of
three tests.
(ii) No two friends get same marks.
(iii) C never scored the highest marks.
(iv) A scores the lowest marks in two tests.
(v) C always scores more than F and F always scores more

than A. Also, no two of them are in consecutive positions.
(vi) G always remains in the bottom three ranks but in a
progressive manner.
184. If B and D are in consecutive positions, which of the
following cannot be true?
a) B scores the highest marks
b) G scores the lowest marks
c) D scores the highest marks
d) A scores the lowest marks
e) None of these
Answer:B
Solution:
Members: A, B, C, D, E, F, G
Ranks: 1, 2, 3, 4, 5, 6, 7
1) Seven friends A, B, C, D, E, F and G take a series of
three tests.
2) No two friends get similar marks.
3) A scores the lowest marks in two tests.
4) G always remains in the bottom three ranks but never in
the same position.

5) C never scored the highest marks.
6) C always scores more than F and F always scores more
than A. Also, no two of them are in consecutive positions.

7) According to the question, B and D are in consecutive
positions. This leaves us with option 2b and 2c.

Clearly, according to given condition G cannot scores the
lowest marks.
185. If G and F are in alternate positions and D scores the
highest marks, which of the following must be true?
a) D and E are in alternate position in terms of rank
b) A and E are in alternate positions in terms of rank
c) G scores the lowest marks
d) F lies exactly between B and E in terms of rank
e) None of these
Answer:D
Solution:
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Members: A, B, C, D, E, F, G
Ranks: 1, 2, 3, 4, 5, 6, 7
1) Seven friends A, B, C, D, E, F and G take a series of
three tests.
2) No two friends get similar marks.
3) A scores the lowest marks in two tests.
4) G always remains in the bottom three ranks but never in
the same position.

2) No two friends get similar marks.
3) A scores the lowest marks in two tests.
4) G always remains in the bottom three ranks but never in
the same position.

5) C never scored the highest marks.
6) C always scores more than F and F always scores more
than A. Also, no two of them are in consecutive positions.

5) C never scored the highest marks.
6) C always scores more than F and F always scores more
than A. Also, no two of them are in consecutive positions.

7) According to the question, B and D are in consecutive
positions. This leaves us with option 2b and 2c.

7) According to the question, B and D are in consecutive
positions. This leaves us with option 2b and 2c.

Since we do not know the exact positions of B and E, thus F
lies exactly between B and E in terms of rank.
186. If E secures the same rank in all the three cases but
does not score the highest marks, what is his rank?
a) 3
b) 4
c) 5
d) None of these
e) Can‘t be determined
Answer:A
Solution:
Members: A, B, C, D, E, F, G
Ranks: 1, 2, 3, 4, 5, 6, 7
1) Seven friends A, B, C, D, E, F and G take a series of
three tests.

Hence, E secures rank 3.
187. ‗1‘ is subtracted from each odd digit and ‗1‘ is added to
each even digit in the number 5249836. Which of the
following will be the difference between the third digit from
the left and the third digit from the right of the new number
thus formed?
a) 4
b) 5
c) 3
d) 2
e) 6
Answer:A
Solution:
Given number is 5249836 if ‗1‘ is subtracted from each odd
digit and ‗1‘ is added to each even digit, the new number
will be:
5 - 1 =4
2 + 1=3
4+1=5
9 -1=8
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8+1=9
3 -1=2
6 +1=7
New Number - 4358927
Third digit from left in this number = 5, third digit from
right in new number = 9. Hence their difference = 9 - 5 = 4
188. In a certain code language ‗LIVES‘ is written as
‘21&95‘and ‗LATER‘ is written as ‗2% 498‘ How will
‗REAL‘ be written in that code language?
a) 49%1
b) 89&2
c) 89%2
d) 59%2
e) None of these
Answer:C
Solution:

Thus, ‗REAL‘ will be written in that code language 89%2.
Hence, option C is correct.
189. B is father of Q. B has only two children. Q, who is
unmarried is brother of R. R is daughter of P. A is
granddaughter of P. S is father of A. How is S related to Q?
a) Son
b) Son-in-law
c) Brother
d) Brother-in-law
e) None of these
Answer:D
Solution:
From the given relation equations,

We can conclude that S is husband of R so S is Q's brother
in law.
190. How many such pair of letters are there in the word
‗ABATEMENT‘ which have as many letters between them
in the word as they have between them in the English
alphabet?
a) Four
b) Three
c) Six
d) Five

e) Two
Answer:D
Solution:
Five pairs of letters are there:

A-B, A-E, B-E, A-E, A-B

